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Section : English Language

Q.1 Rearrange the parts of the sentence in correct order.

Climate change is

P. climate caused by natural forces in combination

Q. a broad topic that includes periodic alterations in Earth’s
R. with the effects of various human activities like burning of
S. fossil fuels and changes in land cover and biodiversity

Ans X 1.PSQR
& 2. QPRS
X 3.RSQP
7 4.SRPQ

Q.2 Find the part of the given sentence that has an error in it. If there is no error, choose

‘No error’.
The recent discoveries have risen hopes about possible applications.

Ans  # 1. have risen hopes
# 2. No error
2% 3. about possible applications.

# 4. The recent discoveries

Q.3 Choose the word that means the same as the given word.
Apologetic
Ans # 1. Contrite
7% 2. Solid
7% 3. Stagnant

75 4. Derisive

https://ssestudy.com’ D OWNload from www.MsEducationTv.com



https://sscstudy.com/

Q.4 Select the correct indirect form of the given sentence.
The sage said, “Man proposes and God disposes.”

Ans ¥ 1. The sage said that man had proposed and God had disposed.
7% 2. The sage said that man proposed and God disposed.
#% 3. The sage said that man propose and God dispose.

" 4. The sage said that man proposes and God disposes.

Q.5 Select the most appropriate meaning of the given idiom.
Slap on the wrist

Ans & 1. Amild punishment
#% 2. Misunderstand each other
2% 3. Wild with excitement

#% 4. Criticize someone strongly and angrily

Question ID : 264330124774
Status : Not Answered
Chosen Option : --

Q.6 Choose the word that means the same as the given word.
Magnanimity

Ans X 1. Virulence
75 2. Volatile
2% 3. Invidiousness

" 4. Altruism

Question ID : 264330124572
Status : Not Answered
Chosen Option : --

Q.7 Improve the underlined part of the sentence. Choose ‘No improvement’ as an answer if
the sentence is grammatically correct.
A man may die, nations may rise and fall, but an idea lived on.

Ans . 1. lives on
75 2. livesin
75 3. liveon

#% 4. No improvement

Question ID : 264330124198
Status : Answered
Chosen Option : 1

Q.8 Identify the segment in the sentence which contains a grammatical error. If there is no

error, then select the option "No error".
And it just recently awarded/ a million-dollar contract/ that reeks of corruption.

Ans 2 1. amillion-dollar contract
7% 2. that reeks of corruption.
" 3. No error
#5 4. And it just recently awarded

Question ID : 264330124760
Status : Not Answered
Chosen Option : --
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Q.9 Choose the option that is the correct passive form of the sentence.
Ravi gave you the information?

Ans ¥ 1.You have been given the information?
" 2. Was the information given to you by Ravi?
7% 3. Have the information been given to you?

7% 4. Has the information given to you?

Question ID : 264330124757
Status : Answered
Chosen Option : 2

Q.10 In the following question, out of the given four alternatives, select the alternative
which best expresses the meaning of the Idiom/Phrase.
Body and soul

Ans X 1. Life and death
7% 2. To solve a difficulty
& 3. Wholly and entirely

7% 4. Happiness and sorrow

Question ID : 264330124097
Status : Answered
Chosen Option : 3

Q.11 Choose the sentence with no spelling error.

Ans X 1. You remind me of someone | knew onse.
#% 2. You reminde me of someone | knew once.
" 3. You remind me of someone | knew once.

#% 4. You remiend me of somone | knew once.

Question ID : 264330124100
Status : Answered
Chosen Option : 3

Q.12 Fill in the blank with an appropriate option.
My feet don’t the ground for the rest of the day.

. 1.slab
" 2. touch
# 3. deal

5 4. purify

Ans

Question ID : 264330124547
Status : Answered
Chosen Option : 2

Q.13 Choose the word that can substitute the given group of words.
Study of heavenly bodies

Ans X 1. Numerology
75 2. Astrology
7% 3. Stargazing

" 4. Astronomy

Question ID : 264330124309
Status : Answered
Chosen Option : 4
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Q.14 Select the most appropriate option to fill in the blank.
However, even after Independence in 1947, British expatriate firms did not suddenly

from India.
Ans & 1.divest

7% 2. consecrate
75 3. close
75 4. disallow

Question ID : 264330124756
Status : Answered
Chosen Option : 1

Q.15 Choose the incorrectly spelt word.
Ans . 1. Shuot

#% 2. Broom
#% 3. Bloom
75 4. Gloomy

Question ID : 264330124099
Status : Answered
Chosen Option : 1

Q.16 Select the most appropriate ‘one word' for the expression given below.
One who has persistent neurotic impulse to steal

Ans X 1.lconoclast
" 2. Kleptomaniac
#% 3. Hypocrite

#% 4. Connoisseur

Question ID : 264330125779
Status : Answered
Chosen Option : 2

Q.17 Choose the word that is opposite in meaning to the given word.
Frustrate

Ans . 1. Foster
75 2. Fetter
# 3. Circumvent

2 4.0k

Question ID : 264330124173
Status : Not Answered
Chosen Option : --

Q.18 Rearrange the parts of the sentence in correct order.
P. versions of the European poor laws, charitable and
Q. in former colonies, such as Ghana, Jamaica, India and the
R. missionary activities, and the introduction of Western juvenile justice procedures
S. Philippines the basic welfare services grew out of modified

Ans ¥ 1.PSQR
< 2.QPRS
X 3.PRSQ
¥ 4.QSPR

Question ID : 264330124092
Status : Answered
Chosen Option : 4
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Q.19 Choose the word that can substitute the given group of words.
One who hates institution of marriage

Ans ¥ 1. Pedantic
7% 2. Polyglot
" 3. Misogamist
75 4. Coquette

Question ID : 264330124414
Status : Answered
Chosen Option : 3

Q.20 Choose the word that means the same as the given word.
Quandary

Ans X 1.Breeze
" 2. Impasse
7% 3. Clique
7% 4. Cinch

Question ID : 264330124052
Status : Not Answered
Chosen Option : --

Comprehension:

In the following passage some of the words have been deleted. Read the passage carefully
and select the correct answer for the given blank out of the four alternatives.

Many fruits and vegetables change (1) as they ripen. For example, tomatoes,
strawberries, and red bell peppers all change from green to red. Colour is just one way along
with size, texture, and smell that you can tell if a fruit or vegetable is (2) to be
harvested or eaten. Imagine a factory that (3) strawberries into plastic containers to
be (4) to grocery stores across the country. It might be useful to have a machine that
automatically (5) any green strawberries that were picked before they were ripe. Or,
you might want a machine on the farm that automatically recognizes strawberries by colour
and only picks the red ones to begin with.

SubQuestion No : 21
Q.21 Select the most appropriate option to fill in blank number 1.
Ans X 1. clothes

7% 2. shape
" 3. colour
7 4.size

Question ID : 264330124086
Status : Answered
Chosen Option : 3
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Comprehension:

In the following passage some of the words have been deleted. Read the passage carefully
and select the correct answer for the given blank out of the four alternatives.

Many fruits and vegetables change (1) as they ripen. For example, tomatoes,
strawberries, and red bell peppers all change from green to red. Colour is just one way along
with size, texture, and smell that you can tell if a fruit or vegetable is (2) to be
harvested or eaten. Imagine a factory that (3) strawberries into plastic containers to
be (4) to grocery stores across the country. It might be useful to have a machine that
automatically (5) any green strawberries that were picked before they were ripe. Or,
you might want a machine on the farm that automatically recognizes strawberries by colour
and only picks the red ones to begin with.

SubQuestion No : 22
Q.22 Select the most appropriate option to fill in blank number 2.
Ans X 1.sober

& 2. ready
/. 3. trepid
7~ 4. steady

Question ID : 264330124087
Status : Answered
Chosen Option : 2

Comprehension:

In the following passage some of the words have been deleted. Read the passage carefully
and select the correct answer for the given blank out of the four alternatives.

Many fruits and vegetables change (1) as they ripen. For example, tomatoes,
strawberries, and red bell peppers all change from green to red. Colour is just one way along
with size, texture, and smell that you can tell if a fruit or vegetable is (2) to be
harvested or eaten. Imagine a factory that (3) strawberries into plastic containers to
be (4) to grocery stores across the country. It might be useful to have a machine that
automatically (5) any green strawberries that were picked before they were ripe. Or,
you might want a machine on the farm that automatically recognizes strawberries by colour
and only picks the red ones to begin with.

SubQuestion No : 23
Q.23 Select the most appropriate option to fill in blank number 3.
Ans ¥ 1. breaks

o 2. packs
7~ 3.tapes
/% 4. halts

Question ID : 264330124088
Status : Answered
Chosen Option : 2
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Comprehension:

In the following passage some of the words have been deleted. Read the passage carefully
and select the correct answer for the given blank out of the four alternatives.

Many fruits and vegetables change (1) as they ripen. For example, tomatoes,
strawberries, and red bell peppers all change from green to red. Colour is just one way along
with size, texture, and smell that you can tell if a fruit or vegetable is (2) to be
harvested or eaten. Imagine a factory that (3) strawberries into plastic containers to
be (4) to grocery stores across the country. It might be useful to have a machine that
automatically (5) any green strawberries that were picked before they were ripe. Or,
you might want a machine on the farm that automatically recognizes strawberries by colour
and only picks the red ones to begin with.

SubQuestion No : 24
Q.24 Select the most appropriate option to fill in blank number 4.
Ans 1. shipped off

7% 2. suited to
7 3. managed of

7% 4. accounted to

Question ID : 264330124089
Status : Answered
Chosen Option : 1

Comprehension:

In the following passage some of the words have been deleted. Read the passage carefully
and select the correct answer for the given blank out of the four alternatives.

Many fruits and vegetables change (1) as they ripen. For example, tomatoes,
strawberries, and red bell peppers all change from green to red. Colour is just one way along
with size, texture, and smell that you can tell if a fruit or vegetable is (2) to be
harvested or eaten. Imagine a factory that (3) strawberries into plastic containers to
be (4) to grocery stores across the country. It might be useful to have a machine that
automatically (5) any green strawberries that were picked before they were ripe. Or,
you might want a machine on the farm that automatically recognizes strawberries by colour
and only picks the red ones to begin with.

SubQuestion No : 25
Q.25 Select the most appropriate option to fill in blank number 5.
Ans X 1. sustains

" 2. rejects
7% 3. proceeds
# 4. detains

Question ID : 264330124090
Status : Answered
Chosen Option : 4

Section : General Intelligence

Q.1 fFrafafEd uy #, oy e el & & s ariseRY @) gl
Ans 7 1.BDEF

7 2.LMNO
7 3. UKL
7 4. ABCD

Question ID : 264330126779
Status : Answered
Chosen Option : 1
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Q2 S, TH TETEIR SHTHERIU, WHI TN 21 T, U ST a1 &1 T, W A $8 FaRRa 82
Ans 1 foar

o 2. TR

7 3.\

X 4.9

Question ID : 264330126777
Status : Answered
Chosen Option : 2

Q.3 s # oW g S oA s b oafe s oo fer s & 3 B o e et o B s
¥ & I e & ¥ e T Ol I Foue O TR e wEin F wee fond oy

4 ]9
ilflwd i
L] |

b ANPF
CA L - N
NP hoA

Ans

7 ANN
X2 |74y
NA7 4

b b P
P 2 - 1 N
Fdd4d

b .49 P
X4 A4
Fhd

Question ID : 264330127236
Status : Answered
Chosen Option : 1

Q.4 FufafEd uy ¥ 9R e gm 3y 71U §1 ude g () & arf SR 3 T@ () F arft
3R T TE | At ah/fFanRidy 3 SEfia 8 | 9 ahMauaEy $ YR W O
T quE g1 3T e el & T 3ot g #Y gie (w3 SEmsi #) 3% U 37l
T 3rerT 3T farg e, o wemasit uR wfthart #t st nfde | 34T, 13 - 13 W wipag
S 13 P ST/ G/ IO HIAT 3G F6aT S Ael1 81 13 B1 1 TF 3 H ST 3 Bt
3R T 1 TF 3 TR TR Wit w31 9 3rgHfa 76 8)

Ans X 1.2222 — 4444
75 2. 3333 -6666
7% 3.4444 — 8888
o 4.5555 7777

Question ID : 264330127220
Status : Answered
Chosen Option : 4
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QS5 Ry aw st & # 59w & o S PeRRE g & o B (05 B oo w

SRS

&

< 1.

el

LO‘

Question ID : 264330126783
Status : Answered
Chosen Option : 3

Q.6 ¥l Th @RI He YT F, ‘GIRL’ &Y ‘QWNL’ FRRaT SITaT 81 39 Foe UTHT § ‘KEPT’ &Y
feran smem?

Ans . 1.YUJP

X 2.YvJP

7 3. YUKR

7 4. YUKP

Question ID : 264330126772
Status : Answered
Chosen Option : 1

Q.7 fopeft Uo @ T UTHT &, ‘TEFLOANS’ 1 ‘2056121226138’ R1@T SITdT 8, ‘SERGEANT’
P 1951872226137’ for@T SITaT 81 59 Fe WINT § ‘UNIQUELY’ F1 & firar wimemm?

Ans X 1.2115917623152
75 2.2114917632142
" 3.2114917622152

75 4.2124917623152

Question ID : 264330126773
Status : Answered
Chosen Option : 3

Q.8 () & Trff 3R AT 7T veg Uw-gW A el adh/Famaiay & Tafta 81 St ad/fam
[EEY & YR TR 3T 7 fadedt & F () & I8 3R I Wq/=Isg TH Bt gl
I : pY:: ?

75 1. BT el
2 2.y Ui
gS.“—hGF[:lﬁ—c'
2 4.7 o

Ans

Question ID : 264330127053
Status : Answered
Chosen Option : 3
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Q.9 frmfafEd vy, & 18 e & | g wen 31 i)
129, 126, 123, 120, 117, ?

Ans 7 1.114
#2113
#3112
4115

Question ID : 264330126339
Status : Answered
Chosen Option : 1

Q.10 (::) F Y 3R faT T g el oo/ ow/Aey & YR W Te-goy & Jafta &1 guE
a%rﬁwm%mmwﬁqwﬁmﬁ%( 1) & SRl SR g Sreq/RTeg I H1 giATI
FAY : AP ;: Peglel : ?

Ans X 1 Rue®
X 2. 3Ega
o 3. PSR
X 4. T

Question ID : 264330126338
Status : Answered
Chosen Option : 3

& g amfy & e wggs B

Ans x4 929
2 23
X325
x4 24

Question ID : 264330126859
Status : Answered
Chosen Option : 3

Q.12 ¥ fawed &) gAY ot dasdt T & S St ave Tafia 7 o @ve ugd wen gadt
TET @ Yafid @ 3R uiadt Sern 5t Ser | Heftd
14:210::13:?::16: 272
Ans ¥ 1.204
7 2.162
# 3.174

o 4.182

Question ID : 264330126841
Status : Answered
Chosen Option : 4
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Q13 x3r e Wit 31 T Pt & v gty B & (U & seEny Al )

~

Ans

Question ID : 264330127635

Status : Answered

Chosen Option : 1
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wiaTEE gy

-

L]
Ans

&2

Q14 #fx ve gdor F1 far AR =% TEn ww, A wew sl & @ Ste gt S St 5 ek

Question ID : 264330126712
Status : Answered
Chosen Option : 2

sfafire g
A

=

Ans

Q15 ofr v TreT W TN AR TT I F S & o foeew SRR T W SR aTETT TN ATET W W

Question ID : 264330126962
Status : Answered
Chosen Option : 4

https://ssestudy.com’ D OWNload from www.MsEducationTv.com




https://sscstudy.com/

Q.16 T 3 far T § fored uer ue gud 81 fou e fawent o | a8 wel fAwew gfvw =it
ST B T B
LOG, FLH, ZII, TFJ, NCK,?

Ans ¥ 1. HYL
X 2. HAL
o 3.HZL
¥ 4. HzMm

Question ID : 264330126776
Status : Answered
Chosen Option : 3

Q.17 Fgfafad vy # arR W g Ru U €| vde g # (-) & ardl 3R &) |3 () F St
3R T TE | st adb/fFramRidy 3 SEia 8 | 9 ahMaaaEy ¥ YR W) O
gm §E 7| 3y T et & & orert g &t e (s & Hemsi #Y 3% ued Siwt
T 3rerT 3T farg e, qof wemsit uR wfthart #t st wnfie | 34T, 13 - 13 W wipag
S 13 BT ST/ T/ IO HIAT 3G FPaT S Ahel1 7113 B1 1 TG 3 H ST A Bt
3R T 1 TF 3 TR TR Wit #31 9 3rgHfa 76 8)

Ans # 1.2125-8600
7% 2. 3375 - 13500
7% 3. 1595 - 6380
75 4.2685 - 10740

Question ID : 264330127045
Status : Answered
Chosen Option : 1

Q.18 fau U &I fag) &Y 3y H g & a1 FufifRaa witewor &1 a9 =1 ghme
:73T1;+65x5—16
Ans X 1.190
X 2.195
7 3.205
o 4.200

Question ID : 264330126361
Status : Answered
Chosen Option : 4

Q.19 2 R 7T vy & o HY= Ry U § 3R 37 Y= & nuR R o fswd Ry mu §)
3TYHY AT @ T T 1T By I € =18 3 WHI=I: T 9] | ool Uelld gl o) | |sfht
freput @t ufgw ok AR frem Fifome % few e freesf # @ Fi9-a1 e aiffe wud
RE sy & sgar gl
DY

.aWz D§l
&y, z T R
frsp:
.S D, Y TS &I
.$3Z Y TR
N.$3D, 28I

Ans 1. O Y HYAT & SFUR B

X 2. Py | 3R 11 G Ul & AR B
7 3. Fsed 11 3R 111 S Ul & SRR B
7 4. Faq FpY | HY & SER B

Question ID : 264330126781
Status : Answered
Chosen Option : 3
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Q.20 3T T ITeq} B GHIR P HUTTAR AT B
1. Wage
2. Waist
3. Waste
4. West
5. Wave

Ans 112354
7 2.42135
7 3.24351
7 4.35241

Question ID : 264330127421
Status : Answered
Chosen Option : 1

Q2 ov e M #, B wre F=1 §2

Blue Cars

Black Cars

Red Cars
Black Car: @it T Blue Car: et 17 Red Car: &1l &FIT

Ans 1 31
X2 22
s3 28
4 33

Question ID : 264330126863
Status : Answered
Chosen Option : 4

Q.22 Ry Al # F, 7 frft v R TuE 1 T, e Ree o i & JquH a8 8139
fawe #1 gf St arfeal F sre 31

Ans _p 1 el
X 299
3. SR
X 4. %

Question ID : 264330127430
Status : Answered
Chosen Option : 1
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Q.23 (::) ¥ I 3iX AW TN Wsg -k | ford) T /PRy & Tafa §1 S ad/fam
ey & YR W Y T st & F () & I8 3R I WUe/=Iss TH Fi gAY
fewrs: aRgeR :: ?

Ans  x 1. fode : Sfdar

7 2. YUIG® : 3RAER

Question ID : 264330127228
Status : Answered
Chosen Option : 4

Q.24 wﬁmaﬁgﬁqﬁmﬁ ﬁmﬁwawmﬁ%ﬁﬁﬁﬂ@ﬁ
T3 gRT AT fohaT SraT @1 (21 3 WSS Y I ed S W ST 3T [Hu
ﬁmqﬂm@ﬁwmaﬁwmmw 13 — 13 IR ARHUTE S 13 HI e
TEITIT ATOT AT 31 35T ST Wepdl 21 13 Y 1 TF 3 H 3T e B R fPe 1 TE3 W

Tty wfhaT H Ft srgafa T8 ?)
(79, 89, 101)
(31, 41, 47)

Ans X 1.(17,19, 23)
o 2.(29,37,43)
7 3.(53,61, 67)
X 4.(43,47, 59)

Question ID : 264330126768
Status : Not Answered
Chosen Option : --

Q.25 9fd 96 C 3=32 3R 288 C 8 =36, A 408 C 6 = ?
Ans ¥ 1.64

X 2.60

o 3.68
X 4.62

Question ID : 264330126341
Status : Answered
Chosen Option : 3

Section : Quantitative Aptitude

QU mF=fmsrE s et o h T m e gm0 T e L & 5
26 g @ gte @ § A = TiEs Bew e s oo

Ans  x 1. 80 TOT
X2 120 w9
X3 60 TIT
v 4 100 T

Question ID : 264330127845
Status : Answered
Chosen Option : 1
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Q2 s st s IR A A A A W B AR T e T b
oft Far T A B Re 18,000 & s e o s o Soiarhy ot ol & oA e = Rt
uRTfEr oY i, o Eer A e w0

Ans X 1. Rs.6,000
v 2 Rs.8,000
x 3. Rs.10,000
x4 Rs.12,000

Question ID : 264330128414
Status : Answered
Chosen Option : 2

Q3
afE secB+tanB=5 , A sec6—tan6 T AT FIAT &7

Ans X1 1/3
v2 15
X3 1/6
X4 112

Question ID : 264330128159
Status : Answered
Chosen Option : 2

Q4 sifem gem F7 25 s FwT HET § 5/8 U7 & e §) g g w4 87

Ane x40 wfem
X 2 50 wfermeE
X3 42 gferd
v 4 36 wicere

Question ID : 264330127843
Status : Answered
Chosen Option : 4
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QS5 #er & ok wftw & & vt Pl O @ 6wt & & o st o wee = i

T
me (P Q
A 100 |10
B 80 |20
c 40 | 120
o |30 |80
E 10 |50

= wft o = & P oEEnT = T S=E # SES A Ee)
J2 = wof ot et F O e i T wEt @ v TN E SR
(11102) 7w b

Ans 5 4 3
v21
¥ 3
a4

Question ID : 264330128061
Status : Answered
Chosen Option : 2

Q.6
(1+sec D( 1+sin® ) =T =TS ST %.?

1+cos? 1+cosec?A
Ans 1. CDSECEA
v 2 tanA
X 3 cos?A

X4 sec?A

Question ID : 264330127783
Status : Answered
Chosen Option : 2

Q7 32, 34, 38, 21, 26 3k x F sitEa 30 ¥ & x F HA FT 2
Ans o< 1. 31

x2 27

3 29

s 4 28

Question ID : 264330126474
Status : Answered
Chosen Option : 3
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Q.8 30 ont € shww sy 15 o K @ s w5 sws s B o e e TR oo o v 8w
tmiﬁﬁﬁrr&mliﬁiﬂﬂ?ﬂqﬂw

At X1142 3§
V2148 T§
X316.4 T9
X4 156 a9

Question ID : 264330127767
Status : Answered
Chosen Option : 2

Q9 aff v ¥ T 10% offw =7 97 2 = & T He.14,000 o7 S@fE &e SO #WT
Ans X 1. Rs.1,490

v 2 Rs.2,940

» 3. Rs.6,940

x4 Rs.3,480

Question ID : 264330128422
Status : Answered
Chosen Option : 2

Q.10 #= v ov g7 wvw # 5 awfadt J, K L M 3t N =7 (saving) ¥ =m0 [espenditure)
T T i

000
1800
ixa
i

e x] W §on 00,

1 Elial
[ |

i i i (4] L]
:-‘n!il‘ l!‘rmr’dluﬁ-

i ST & dter Ts, =l aefadt B shem s w S TaTE E
Ans X1 150 wferE

v 2120 wfaea

X 3100 9faerE

7 4 90 gfgeE

Question ID : 264330128285
Status : Answered
Chosen Option : 3

QN srrpm Mmoo S e e, ooy 0w 80 s e b P, O = i
siEwE B

Ans X 1. 995 aferg
* 2. 125 gfaera
V3 200 gfeeE
x4 150 gfgera

Question ID : 264330127769
Status : Answered
Chosen Option : 3
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Q12 SomfafEm wrgafs & s 10 ¥ o1t g3 9 3= # e =
T foreet wfeee ol ® 60% W ¥ 3w s e

5
140 4160 61-80 B1-100
Score (in %)

1
3 s 5
_Em .
i : . . I
o HE N — B
0-20

Tt # FEar (Number of students)
3F % H (Score in %)
Ans 1. 50%
% 2. 34%
3 25%
4 68%

Question ID : 264330128438

Chosen Option : 4

Status : Answered

Q13 o w THEEAE WH W B0 km @ Zf 7T owwr b i w T o€ o # 8 kb B qfE w8 oE A
o I A=A F TR 2 uF w9 A | w & aatEw e e 2

Ans X 1. 16 km/hr
v 212 km/hr
%310 km/hr
%415 km/hr

Question ID : 264330127765

Chosen Option : 2

Status : Answered

Q.14
afy cut}'=§, AT cos?y = A FT 87

Ans 144
169
84
143
xo 72
91
72

143

Question ID : 264330126476

Chosen Option : 1

Status : Answered

https://ssestudy.com’ D OWNload from www.MsEducationTv.com



https://sscstudy.com/

Ans

QA5 v fowr S i g S =k 13 8, 15 99 of 14 99 B ww Sy w st S
X 1. 84.2 997 397 (square inches)

X 2 421 997 &1 (square inches)

X 3. 81.2 997 397 (square inches)

v 4 84 I =7 (square inches)

Question ID : 264330127776
Status : Answered
Chosen Option : 4

C2l L

Ans X115 em
%212 cm
+3 8 cm
X4 9 cm

Q.16 1 3= e fr=mr 17 em &, Tt o o Y FEf M0 em B TW = R ww A o B oA A

Question ID : 264330128123
Status : Answered
Chosen Option : 3

Ans X1.5:9
v22:58
X34 ;M
®4+3:7

QA7 ofE piq = vis = tu = 25, & (4p + 3r+ 7t : (4g = 3= +

7u) W AT T E7

Question ID : 264330127771
Status : Answered
Chosen Option : 2

Q.18 1

2 1 1.3
IR
s s R
T3 1.5.425.1. 2.1

5'5 272 & 2508
Ans X 1. 28/125
<2 31127
X3 321127

v 4 26123

I |
b | Ln

T A 4T 27

Question ID : 264330127781
Status : Answered
Chosen Option : 4
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A1 o ofgw & f=mr 14 om §1 10 w9 & oftw B g 7T S0
Ans 1. S'UU cm

+ 2 880 cm

3 820 cm

X4 910 cm

Question ID : 264330127766
Status : Answered
Chosen Option : 2

O M a+b+c=0 aa®+ b3+ c?- 3abc F AW FAT L?

Ans 1 2
96 2. .
v30
x4 1

Question ID : 264330127777
Status : Answered
Chosen Option : 3

Q21 2 v vw g s F O A P, QLR 5 T ot U & mefeat f wmm W ot o o
i . FEe A wefeot f Ew Fmr 3000 | el Rrfier mw A et & e w g Wil o
T F AR i §W PO F vEnE F oA F i v

7R P 37 R # et & N Fo et b
Ans x4 930

2 1620

x 3 870

V41440

Question ID : 264330127862
Status : Answered
Chosen Option : 4

9% 44 x 12 - (25 + 13 x 10) FT AT FqT &7
Ans X 1. 613

X2 633

V3 373

x4 573

Question ID : 264330126485
Status : Answered
Chosen Option : 3
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Q3 B TSN ATy AT A AT B T SR T S T B e L A=

Ans X 1. 21 ecm
#2 24 cm
+3 18 cm
x4 27 cm

Question ID : 264330126475
Status : Answered
Chosen Option : 3

Q.24 gt @ A 12 cm ST B om b SE ST dre @ 2t 25 om b I sERE T T @
Ak = 4

Ans 1. 24 em
X2 23 cm
X3 22 cm
x4 21 cm

Question ID : 264330127774
Status : Answered
Chosen Option : 1

Q25 4,42 C1=at x(1-x)

1-% = ¥-1 (1+x)

N AT T &7

Ans x =X
1.
1+x2
—X
2. — e
{(1+x)2
—x
~ 3 —
1+x
—x
1+2x2

v

x4

Question ID : 264330127854
Status : Answered
Chosen Option : 2

Section : General awareness

Q.1 gﬂ@rﬁm#mﬁmﬁﬁ%wﬁﬁw%wmﬁwmmm
12

Ans 7 1.1918

¥ 2.1920
7 3.1919
X 4.1916

Question ID : 264330124874
Status : Answered
Chosen Option : 4
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Q.2 ?ﬂ;&é@ﬁﬁﬁh@hOﬂﬁW%ﬁWW%ﬂﬁwmmm
?

Ans  x 1.40
X 2. PIaBIT

¢ 3. 5R
2 4. TUM

Question ID : 264330125514
Status : Answered
Chosen Option : 3

Q3 RARFFAYRTAF __ IsT Bl @i Reear gl
Ans X 1. TR
2. TERTY
7 3. fieiRe
> 4 FAleH

Question ID : 264330125360
Status : Not Answered
Chosen Option : --

Q4 fmfafay o A fean gqua siud 2022 & (39 Thd $1 Radara oitar 82
Ans 1. WHHEN AR

2. PERTS

X 3.7%d T8d

o 4. DTAN SRS

Question ID : 264330125532
Status : Answered
Chosen Option : 3

Q5 TH FATCIP SUBRUI § S U HHSIR Havrd Wt FHaT ¢ 3R 38 T U
(e ive) exar 21
Ans ¥ 1. B9
x 2. fa=
X 3. TSR
o 4. Rl

Question ID : 264330124933
Status : Answered
Chosen Option : 4

Q.6 o w1 el weawa & Rigra & fvw af gerar mar 12
Ans 7 1.1240

X 2.1244

7 3.1238

X 4.1236

Question ID : 264330124950
Status : Answered
Chosen Option : 1
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Q.7 YR 3y F1 FafafEe § @ #1991 Sudy FAreT F iy J forar mn 2
Ans o p 1. JeIqH TC o1 WRIFiERT SASR

7 2. TTORTSY B YhedT

7 3. gHadf Gt oY Yo

75 4. U] &1 WA

Question ID : 264330124879
Status : Answered
Chosen Option : 3

Q8 wAfRe i ___ dodtdifa?)

Ans X 1. TSRId, AERTY, Ao 3R giamon
X 2. IR yew, [8R, ufEH s SR siamn
X 3. Bfcd, HERTY, ORI 3R IS
o 4 T, SR, At IR R

Question ID : 264330124811
Status : Answered
Chosen Option : 4

Q.9 The value added of a firm is calculated as
Ans o 1. value of production of the firm — value of intermediate goods used by the firm

24 2. value of production of the firm + value of capital goods used by the firm
# 3. value of production of the firm / value of intermediate goods used by the firm

# 4. value of production of the firm + value of intermediate goods used by the firm

Question ID : 264330124865
Status : Answered
Chosen Option : 2

Q.10 firgor & Tl A FFufafaa & @ H9-91 HY= AL AL 82

Ans X 1. {300 & &3 3fagd &) [ Hed B
7 2. T & B2 3w B e Hgd Bl
& 3. DS U fawwitt frsyor R, Rraes il 7 3R ST e 2
X 4. T @ ar & ¥ siftres gerdf o gwih frgor

Question ID : 264330124869
Status : Answered
Chosen Option : 3

Q.11 WIBT (FIFA) AfaT 3y $9 2023 ASE HIF-T1 S HM?
Ans X 1. WU R =

7 2. gad T MR SR HTST

X 3. 3cclt SR g

o 4. Siiferan SR iicls

Question ID : 264330125331
Status : Answered
Chosen Option : 2
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Q.12 mm%?g'@mﬁﬁwaﬁmaﬁmﬂ:ﬁwwﬁﬁﬁ%ﬁmmﬁ peard
B} sifer Al far

Ans 1 sfifsEn
X 2. 7R
X 3. ufgm &
X 4. IRES

Question ID : 264330125513
Status : Not Answered
Chosen Option : --

Q.13 Qe $f3a1 gy IR $1 Uigal GPIUI AAYI S e | Smafora far s
Ans ¥ 1. @

o 2. 375

e

X 4.9

Question ID : 264330125156
Status : Answered
Chosen Option : 3

Q.14 FrafifEe § & SH-a1 Sy 9 T8 82
Ans X 1. fdiae iR gd feifia ufaufadt o sem ok @dte arer aoR B
7 2. Ui IR 1 7Y FRTE SI9IR (new issue market) & A1 I i ST ST 81
» 3. RIS &uﬁ@ﬁwuﬁam (Open Market Operations)'ﬁammﬂ@[ quﬁnﬂ%l
TR B T Wi Hf¥rept FruTar 81

o 4. 3ENE Ufayfa STER 1 48 Tfryfa STOR (gilt-edged market) & T ¥ 4t ST ST
=

Question ID : 264330125516
Status : Not Answered
Chosen Option : --

Q.15 B @M (23°30° N) HRA S ___ 3160 A S TorRdl 81
Ans X 1. U9TS

X 2. TRy

" 3. BRI

7 4.9

Question ID : 264330125646
Status : Answered
Chosen Option : 3

Q.16 grger & way & FafifEd § § S5 a1 oy g 22
Ans X 1. JHE I0 IR AYETS G4 HH BI1 § 3R HaTs IR S R TG Sl 3 |

7 2. 0 319wy SR I T & 9T 8T g B
X 3.3 3§ Sreagad SATHTRT 3R TH AT & W1 JST§aN @ |
o 4. T TR S aTd & ¥ 9 319 & B SR T el 81

Question ID : 264330124947
Status : Answered
Chosen Option : 4
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Q.17 gyHse Pt i ad Hars fpa 22
Ans ¥ 1.30km

75 2.6km
& 3.13km
7 4.50 km

Question ID : 264330124870
Status : Answered
Chosen Option : 1

Q.18 TR UgIET (Dhinodhar Hills) T YR Irsurdbs =ya we=r & fRua 82
Ans ¥ 1 HERIY

& 2. ToRd

X 3. 3fsHH IR FoleR glu ag

7 4. Uiy S

Question ID : 264330125523
Status : Not Answered
Chosen Option : --

Q.19 YR BT UG 24 x 7 AR St A HATerd ia W1 for s & Ry« 32
Ans X 1. TSR

X 2. o

X 3. Ramw mew

o 4. ToRId

Question ID : 264330124862
Status : Answered
Chosen Option : 4

Q.20 fYER HIH F A0 I A ST o1an 872
Ans X 1. QI aSlad 3G

o 2. S R
X 3.5l TG
X 4 TR IR

Question ID : 264330125651
Status : Not Answered
Chosen Option : --

Q.21 Fufafed & 9 5w s srra & il &) Aara & A1 J ST S g?
Ans X 1. STGTECT

o 2. dadIwTEeT

> 3.t

7 4. RSwEe

Question ID : 264330125518
Status : Answered
Chosen Option : 1
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Q.22 <geF ¥t T FafafEa 3 3 e 3t @i
Ans 1.9 98fd% (J. Chadwick)

X 2.3 MW (E. Goldstein)
7 3. 9’ &R (Neils Bohr)
7< 4. 3 IEIBIS (Ernest Rutherford)

Question ID : 264330124867
Status : Answered
Chosen Option : 1

Q.23 YR WIUH & 5 gede § S fvar a1 @ b aredt ampwon o arialve srrify
T I B T&T BT % PR BT Beod 87

Ans ¥ 1.358
X 2.353
¥ 3.356
o 4. 355

Question ID : 264330124953
Status : Not Answered
Chosen Option : --

Q.24 Fufafay 3 A 5w 2iése Foil (B1) BT ITAATA MS-Excel 365 IHYP Pl dg
P & forg fvan sirar 82 o * e

Ans ¥ 1.Ctrl+X
s 2.Ctrl+ L
o 3.Ctrl+W
5 4.Ctrl+C

Question ID : 264330124859
Status : Answered
Chosen Option : 3

Q.25 fgfafaa ® 3 f5a v o1 2022 ¥ 9% fred UTYeR 9159 &1 frehaR RIR e
yr?

Ans  _» 1 IRTE
X 2. THYNIE B ARl
7 3. TRER IyH
> 4.\ Ape

Question ID : 264330125527
Status : Answered
Chosen Option : 1
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Combined Higher Secondary Level Examination Tier | 2022

Roll Number
Candidate Name
Venue Name

Exam Date 09/03/2023
[Exam Time 11:45 AM - 12:45 PM
ISubject CHSL Exam 2022 Tier |

Section : English Language

Q.1 Identify the segment in the sentence which contains a grammatical error. If there is no

error, then select the option "No error”.
Today, in fit of frenzied rage and / jealousy, you would have/ killed me, your brother.

Ans ¥ 1. killed me, your brother.
#% 2. No error
7% 3. jealousy, you would have

& 4. Today, in fit of frenzied rage and

Question ID : 264330124708
Status : Answered
Chosen Option : 3

Q.2 Select the correct indirect form of the given sentence.
Aditi said, “l am not invested in the project anymore.”

Ans X 1. Aditi said that she is not invested in the project anymore.
& 2. Aditi said that she was not invested in the project anymore.
7% 3. Aditi said that she had not invested in the project anymore.

7% 4. Aditi said that she do not invested in the project anymore.

Question ID : 264330124030
Status : Answered
Chosen Option : 2

Q.3 Choose the sentence with no spelling error.
Ans X 1. Lights flikered in the bush behind him.

#" 2. Lights flickered in the bush behind him.
7% 3. Lites flickered in the bussh behind him.
#% 4. Lights flicered in the bush behind him.

Question ID : 264330124048
Status : Answered
Chosen Option : 2

Q.4 Choose the word that can substitute the given group of words.
A specialist of kidney

Ans X 1. Pathologist
" 2. Nephrologist
7% 3. Primatologist
7% 4. Obstetrician

Question ID : 264330124024
Status : Answered
Chosen Option : 2
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Q.5 Choose the word that means the same as the given word.
Slick

Ans ¥ 1. New

7% 2. Fractions
" 3. Slippery
7% 4. Novice

Question ID : 264330124051
Status : Answered
Chosen Option : 3

Q.6 Select the most appropriate meaning of the given idiom.
A shot in the dark.

Ans & 1. Randomly doing something, the outcome of which is unknown
#% 2. Ablind man's cane

#% 3. Shooting in the night

75 4. Looking at the stars

Question ID : 264330124722
Status : Answered
Chosen Option : 1

Q.7 Rearrange the parts of the sentence in correct order.
P. fish, or other potential food item that happen
Q. to be floating by with stinging cells called nematocysts
R. at night and capture tiny organisms like zooplankton, small
S. corals are predators and they extend their tentacles

Ans X 1.RSPQ
X 2.RPQS
+ 3.SRPQ
7 4.PQRS

Question ID : 264330124040
Status : Answered
Chosen Option : 3

Q.8 Improve the underlined part of the sentence. Choose ‘No improvement’ as an answer if
the sentence is grammatically correct.
She cuts her haired short in the summer.

Ans X 1. hairy short
& 2. hair short
#% 3. No improvement

7% 4. hair shortest

Question ID : 264330124431
Status : Answered
Chosen Option : 2

Q.9 Choose the incorrectly spelt word.
Ans . 1. Clovver

75 2. Sunrise
#% 3. Sharpen
7 4. Happen

Question ID : 264330124047
Status : Answered
Chosen Option : 1
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Q.10 Fill in the blank with an appropriate option.
One of his rules was to always and await instruction to enter.

Ans ¥ 1. resist
7 2. blink
" 3. knock
75 4. rub

Question ID : 264330124183
Status : Answered
Chosen Option : 3

Q.11 Choose the word that is opposite in meaning to the given word.
Accessory

Ans X 1. Substitute
7% 2. Option
" 3. Essential
#5 4. Surplus

Question ID : 264330124641
Status : Answered
Chosen Option : 2

Q.12 Fill in the blank with the most suitable word.
Remember that, little sister: wait for a man to your honour, and you’ll wait
forever.

Ans & 1.avenge
75 2. comfort

75 3. repeal
75 4. cheer

Question ID : 264330125862
Status : Answered
Chosen Option : 4

Q.13 Choose the option that is the correct passive form of the sentence.
The culture was losing its meaning.

Ans X 1. The culture lost it's meaning.
#% 2. The meaning of the culture will lost.
#% 3. The meaning of the culture was lost.

" 4. The meaning of the culture was being lost.

Question ID : 264330124705
Status : Answered
Chosen Option : 4

Q.14 Choose the word that can substitute the given group of words.
Compulsory enlistment for military service

Ans X 1. Armament
7% 2. Abdication
25 3. Militaristic

" 4. Conscription

Question ID : 264330124570
Status : Answered
Chosen Option : 1
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Q.15 In the following question, out of the given four alternatives, select the alternative
which best expresses the meaning of the Idiom/Phrase.
To burn one’s finger

Ans ¥ 1.To have one’s finger chopped
#% 2. To accidentally touch a hot utensil
#% 3. A question without any agreed answer

" 4. To suffer a loss by acting rashly

Question ID : 264330124045
Status : Answered
Chosen Option : 4

Q.16 Choose the word that means the same as the given word.
Sacrilege

Ans * 1. Blasphemy
#% 2. Consecration
7% 3. Modification
7% 4. Reverence

Question ID : 264330124026
Status : Answered
Chosen Option : 1

Q.17 Choose the word that means the same as the given word.
Laggard

Ans 2 1. Prompt
7% 2. Expeditious
7% 3. Hustler
& 4. Dawdling

Question ID : 264330124546
Status : Not Answered
Chosen Option : --

Q.18 Select the option that will improve the underlined part of the sentence. In case no
improvement is needed, select ‘No improvement’.
Herbalism had become an all but extinct skill in the Western world.

Ans X 1. Herbalism has become but an extinct skill
" 2. No improvement
7% 3. Herbalism has become but all an extinct skill

7% 4. Herbalism become an extinct skill

Question ID : 264330125901
Status : Answered
Chosen Option : 2

Q.19 Find the part of the given sentence that has an error in it. If there is no error, choose

‘No error’.
India has turned 70 years older as a Republic.

Ans o 1.70 years older
#5 2. India has turned
7% 3. as a Republic.
7 4. No error

Question ID : 264330124031
Status : Answered
Chosen Option : 1
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Q.20 Improve the underlined part of the sentence. Choose ‘No improvement’ as an answer if
the sentence is grammatically correct.
The Government has been building more schools to provided education at the
secondary level.

Ans ¥ 1. No improvement
# 2. providing education to
2% 3. provide educationally on

& 4. provide education at

Question ID : 264330124536
Status : Answered
Chosen Option : 4

Comprehension:

In the following passage some of the words have been deleted. Read the passage carefully
and select the correct answer for the given blank out of the four alternatives.
In a new study (1) in Nature Human Behaviour, we have now shown that, in 2021,
(2) expectancy rebounded somewhat in most western European countries (3)
eastern Europe and the US witnessed additional losses. However, only Norway (4) its
pre-pandemic life expectancy in 2021, and everywhere is worse off than it would (5)
have been without the pandemic.
SubQuestion No : 21
Q.21 Select the most appropriate option to fill in blank number 1.

Ans o 1. published
7% 2. established
7% 3. surrounded
7 4. registered

Question ID : 264330124034
Status : Answered
Chosen Option : 4

Comprehension:

In the following passage some of the words have been deleted. Read the passage carefully
and select the correct answer for the given blank out of the four alternatives.
In a new study (1) in Nature Human Behaviour, we have now shown that, in 2021,
(2) expectancy rebounded somewhat in most western European countries (3)
eastern Europe and the US witnessed additional losses. However, only Norway (4) its
pre-pandemic life expectancy in 2021, and everywhere is worse off than it would (5)
have been without the pandemic.
SubQuestion No : 22
Q.22 Select the most appropriate option to fill in blank number 2.

Ans ¥ 1.hunger
7 2. animal
o 3. life

7 4. game

Question ID : 264330124035
Status : Answered
Chosen Option : 3
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Comprehension:

In the following passage some of the words have been deleted. Read the passage carefully
and select the correct answer for the given blank out of the four alternatives.

In a new study (1) in Nature Human Behaviour, we have now shown that, in 2021,

(2) expectancy rebounded somewhat in most western European countries (3)

eastern Europe and the US witnessed additional losses. However, only Norway (4) its
pre-pandemic life expectancy in 2021, and everywhere is worse off than it would (5)

have been without the pandemic.

SubQuestion No : 23
Q.23 Select the most appropriate option to fill in blank number 3.
Ans X 1. Dbehind

7 2.as
7 3.s0
4. while

Question ID : 264330124036
Status : Answered
Chosen Option : 4

Comprehension:

In the following passage some of the words have been deleted. Read the passage carefully
and select the correct answer for the given blank out of the four alternatives.

In a new study (1) in Nature Human Behaviour, we have now shown that, in 2021,

(2) expectancy rebounded somewhat in most western European countries (3)

eastern Europe and the US witnessed additional losses. However, only Norway (4) its
pre-pandemic life expectancy in 2021, and everywhere is worse off than it would (5)

have been without the pandemic.

SubQuestion No : 24
Q.24 Select the most appropriate option to fill in blank number 4.
Ans . 1. beats

7 2. clubs
7 3. lifts
7% 4. probes

Question ID : 264330124037
Status : Answered
Chosen Option : 4

Comprehension:

In the following passage some of the words have been deleted. Read the passage carefully
and select the correct answer for the given blank out of the four alternatives.

In a new study (1) in Nature Human Behaviour, we have now shown that, in 2021,

(2) expectancy rebounded somewhat in most western European countries (3)

eastern Europe and the US witnessed additional losses. However, only Norway (4) its
pre-pandemic life expectancy in 2021, and everywhere is worse off than it would (5)

have been without the pandemic.

SubQuestion No : 25
Q.25 Select the most appropriate option to fill in blank number 5.
Ans X 1.nicely

7 2. bluntly
7% 3. shortly

o 4. likely

Question ID : 264330124038
Status : Answered
Chosen Option : 3

Section : General Intelligence
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?
43R 3
Ans  #1.4+3x7-2=29
K 2.3x4+2+7=17
XK 3.4x3+7-5=16
K 4Tx4+3+1=30

Q1 yﬁmﬁ(maﬁqﬁ)ﬁmﬁmﬁwmﬁﬁaﬁq—mmw

Question ID : 264330127065
Status : Answered
Chosen Option : 1

SSH T BT TR BT
ABC, EJN, IRY, 2, QHU

Ans 1. MZJ
75 2. MZK
7 3. MzI
75 4. MYJ

Q.2 U® 3w fear T ¢ Foraw ue ue gua 81 fou e fawent o | a8 Wl fAwew i~ ot

Question ID : 264330126726
Status : Answered
Chosen Option : 1

| A
KNFJESD |

Ans

C

L =

Ll i rv— Ll
CLOSE =

|
S
C
/

A1 Ll Tm
C.

L =

OO > > (1

Q3 faw oy fwerdt F # wber & T O W g S ol T e & s o E

Question ID : 264330127612
Status : Answered
Chosen Option : 3
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Q.4 fpeft Ue @RI T UTHT H, ‘PROTEINS’ H1 ‘119127591419’ 1@ Wl 8, ‘REFLECTS’ &1
9222115532019’ foRET SITAT 81 §9 F UTHT & ‘SCENARIO’ B 4 forar simeem?

Ans & 1.8242213118915
75 2.8242213118951
75 3.8242213119815
75 4.8242113128915

Question ID : 264330126723
Status : Answered
Chosen Option : 1

Q.5 AU U Gl P ASHI & FAAR | AT P!
1. Taken
2. Tactless
3. Tackle
4. Tactful
5. Talent

Ans X 1.12543
7 2.54132
X 3.24351
& 4.34215

Question ID : 264330127371
Status : Answered
Chosen Option : 4

Q.6 (::) % ol 3R foT 7T wreg fpeft 7 fobeft adb/FramRidY & 3MyR wR omuy # Hafd B
JUH ah/FaaEey & SMUR R 3T T fawedl & | (::) & il iR gl Wea/RTes iH HI
%:Tﬁﬁﬁ::?

Ans ¥ 1 RIS Jg@HI

7 2. Uy Rfsarr
o 3. T : AyHadt
7 4. TaTS SIEI: faAT=IT

Question ID : 264330127203
Status : Answered
Chosen Option : 3

Q.7 3 Ry T vy & 7o HY= Ry U § 3R 37 Fy= & UR R o fwd Ry mw #)
3TYRY AT @ T U T8 Sy I € =18 9 H=I: T 9] & ool Uelld gl 81 |sfht
freput @t ufer ofik 7 frrza Fifsm f g e freesf # @ S-ar freed aifée wud
RE sy & sgarR g
DY
|.'\=ner,Q%%|
I.$OH, QEl
fore:

|.ﬁ6,N%|
I. B Q HEI
. BN, HEI

Ans g 1 T | IR 11 ST FUAT & SER §
¥ 2. 59 IS 11l YT & SATER B
7 3. s 11 3IR 11 S Y B SR E
X 4. 59 5T || HY & AR B

Question ID : 264330126731
Status : Answered
Chosen Option : 1
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Q.8 frafafed vy ®, & 1< fam ¥ ¥ gu w=n 1 gl

2,3,57,11,7
> 1.19

213
X 3.20

7 4.16

Ans

Question ID : 264330126325
Status : Answered
Chosen Option : 1

YTYT &, ‘MANAGE’ %1 ‘HJDQDP’ i ST 81 39 e HaT o
forar smem?

Q9 frftwe @™
‘LATTER’ 31

Ans ¥ 1. UHWWOD
7 2. UHVWDO
& 3. UHWWDO

7 4. UHWXDO

Question ID : 264330126722
Status : Answered
Chosen Option : 3

W:W::?ﬁiﬂ:?
& 1.3
M 2.9
X 3.1R
75 4.91d

Ans

Q.10 (::) & TRY 3R T 7T Treg el T FIaARISY & STYR UR Ueh-goy & Heftd &1 96
T /MrgaREY ¥ YR IR 3 U el & F (::) F rlf ok gu Wea/=Teg g Y gl

Question ID : 264330126324
Status : Answered
Chosen Option : 1

Q.11 H, I a6 8IB, HBI AT J,RHTIABI1, J P T8 81 R, H A B4 YaRRa 82
7< 1. qremh

o 2. Tar

# 3.3ME

25 4.1

Ans

Question ID : 264330126727
Status : Answered
Chosen Option : 2

Q.12 fafafad uy #, fow Tu fweul d @ Sra siar/sieR) &) g

Ans . 1.0SX
7 2. FIN
/< 3.1IMQ

7 4.NRV

Question ID : 264330126729
Status : Answered

Chosen Option : 1
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O &k gy & frad wgsw

Ans 113
x2 11
x3 14
V412

Question ID : 264330127309
Status : Answered
Chosen Option : 4

M R e smw &, e w0 @ & e § ol 7 & s B2

14
5
/ A '
2 12
Reptiles 13 6 \
Mammals |
Amphibians

Reptiles- FHY, Mammals- Toa97T, Amphibians- 38T
Ans 1 g

X212

X313

v 4 14

Question ID : 264330127313
Status : Answered
Chosen Option : 4

Q.15 frafifad vy & IR Gon 3 T U § | e TR # () F 91 iR B GBIl () F s
3R Ft T A et ab gy & T&fia 31 adb/MAauRidy & smuyR o= 39 g

9 g1 AT T fywedt & | 3rerT g B gAT (AT & - Hemsi $Y 39 ued ot §

ST e for far, gof wemsit wR wfibard #t St afee ) SereRur ¥ e 13 - 13 W

HFATE S SISAECTIAON ST 31T 4T S webar 3113 BT 1 9 3 H 3R I ot

3R T 1 TF 3 TR TR Wit 31 9 sgufa 76 8)

Ans X 1.104 — 1124864

75 2.102 - 1061208
/< 3.106 — 1191016
" 4.108 — 1257912

Question ID : 264330127195
Status : Answered
Chosen Option : 3
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Ans

s

Q18 53 famen wwia & gwe SEA & 8 FeE Wi §) a0 & aEE 56

Question ID : 264330126960
Status : Answered
Chosen Option : 1

Ans

iR E

Tl

< 11T

v

Rl
L4
L

Q17 o o et # ¥ 39 FEE F g @ eeiatle swe @ o B (7) F mow or e e
L]

Question ID : 264330126733
Status : Answered
Chosen Option : 4

https://ssestudy.com’ D OWNload from www.MsEducationTv.com




Q.18 39 fawea = ge Rrad

T wfpaTd HeA P rgAfa T8 ?)
(36, 99, 106)
(72, 207, 214)

Ans X 1.(48,125,132)
2 2.(64, 193, 200)
7 3.(52, 157, 164)
o 4. (24,63, 70)

P e 98 Yay g B! € St T ¢ Iy §
T3 gIRT TS faaT Sirar 81 (ST €: WBail &1 3% e 3! § e e fhu
3, qof Tremmeit R wfpand @t st TfRe 3aT. 13 - 13 W GipaTd 9 13 B wiieT
[T ATON AT 31 T ST ehat 81 13 Y 1 TF 3 | 3T v & 3R e 1 Td 3 W

Question ID :
Status :
Chosen Option :

264330126718
Answered
4

e | Hafa @ 3R et e 9 e & weita 21
11:81::22:400:: ?:225
Ans 7 1.17
7 2.13
75 3.1

X 415

Q.19 3IW fAwey &Y gAY Wl B! TEn A e W e Tefia 8 R ave uge wem gadt

Question ID :
Status :
Chosen Option :

264330127291
Answered
1

Q.20 fafafad vy &, oy e fawent § | 3rerT Xsg g & gl
Ans X 1.3 - SFARY

7 2. 78 et - uRd

X 3. SR -dH

o 4. TER - Ui

Question ID :
Status :
Chosen Option :

264330127380
Answered
3

Q.21 Tfg14A13A3=303R39A14A3=56 T28A1MA4=7
Ans ¥ 1.40

X 2.63
o 3.43
X 4.57

Question ID :
Status :
Chosen Option :

264330126327
Answered
3
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Q22 55 famen Higa & gev o0d & 7 FHA WA 81 (GOF S AT A8

4

Ans

b
N
A

<
=

x 4. Fh.

Question ID : 264330126710
Status : Answered
Chosen Option : 3

Q23 g o ot & T & mk F1 P T v F aEew Be O F T FEAT 7

@
Ans X1 L3t o
X2 9 3R 8

X3 73T 9
vig 3R L

Question ID : 264330127357
Status : Answered
Chosen Option : 1

Q.24 (::) & TR 3R AT 7T wreg Uw-gR | el adh/AgmRiay | Tefta §1 3 adb/fram
RidY & SMUR W T 1Y fawpedt § 9 (::) F ard 3R g Wea/<1eg I H1 FFATI
HUIqP : STEAR :: ?

Ans . p 1 UM BEA
75 2. R dRGPR
KS.W:?@@T
X 4. ®fadr: f

Question ID : 264330127028
Status : Answered
Chosen Option : 3
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Q.25 ffafad vy & IR e 3 AT U €| ude Tu H (-) & It SR &t e () F gt
3R Ft e A et ab /M auriay ¥ Tefia 3 | 9uE ab/Aaamey F STyR w §F
gm §9E 7| 3 T et & & orert g &6t gfw ) (s & Hemsi 3 39 ued Sl
T 3rerT 3T fag T, qof wemasit uR wfthart #t st anfRe | 3. 13 - 13 wR Aihag
S 13 Y ST/ T/ IO HIAT 3G FPaT S whel1 7113 1 1 TG 3 F 3T A Bt
3R 57 1 U9 3 W IO wipaTd B Ft srgufa A8 )

Ans X 1.638-2552
o 2.1074 — 4396
7 3.508 — 2032
7 4.618 - 2472

Question ID : 264330127020
Status : Answered
Chosen Option : 2

Section : Quantitative Aptitude
A
MR k+i-2-0 IRK>0, AR+ AW W

Ans 1 9
X212
X3 1
x40

Question ID : 264330127727
Status : Answered
Chosen Option : 1

Q.2

Ans o 1. 4

Question ID : 264330127731
Status : Answered
Chosen Option : 1

Q.
: nﬁx*+i=4?.mx3+%ﬂmmﬁ?

Ans a4 9
~2 27
3 36
v 18

Question ID : 264330128304
Status : Answered
Chosen Option : 4
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Q4 Rrfaf@s Yar sma # st & o wag & Tuder 7 & geiar mn
£l

MNumber of people

e w &« » w B B &

Red  Gream Orange Fink  Black  Blue  Whits  Yellow
Caolours

For et aftrere @it & Fen 1 w5 §7

#eit @ gEar (Number of people)

BT (Colours)

@ (Red), 77 (Green), AT (Orange), @ (Pink), Frem (Black),
e (Blue), THeE (White), Sram (Yellow)

Ans X1 50%
2 10%
3 20%
x4 33.3%

Question ID : 264330128388
Status : Answered
Chosen Option : 3

Q5 " e i - * E L
Mﬂ;ﬁ Mmﬁwrm = ¥afy W 55 findr f, = 9 ¥ &g o7 wEw o

Ane w110 BB
X2 125 R
X3 140 B
X4 135 B

Question ID : 264330126467
Status : Answered
Chosen Option : 1

Q6 A smwm O ES TS 0N S T b T A T R 2550 8 T B T
= 7

Ans X 1. Rs.7650
# 2. Rs.5000
v 3 Rs.5100
# 4 Rs.4900

Question ID : 264330127719
Status : Answered
Chosen Option : 3
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Q7w werr e Ew ST 10% Wb A # 3 W A Rad0d g sk b E e W o v
Ans 1. Rs.310

2 Rs.400

# 3 Rs.345

4. Rs.380

Question ID : 264330128372
Status : Answered
Chosen Option : 1

as I cosB =2, A cosec B # A F ¥

Ans 4

Question ID : 264330126468
Status : Answered
Chosen Option : 4

Q9 tap A—sinA
tan A+sin A
Ans o
" sec A—1
sec A+l
X2 sec A
sec A+l
sec A—1
x4 1

F AT FT 87

x 3.

Question ID : 264330127733
Status : Answered
Chosen Option : 1

=2 4

Ans 1. Rs. 336
%2 Rs. 442
* 3. Rs. 372
x4 Rs. 325

Q.10 = iz ¥ Ry 700 ¥ wiEm = =20 e #T 40 e & 2w
%méﬂnﬁmﬁﬁﬁmwm e

Question ID : 264330128293
Status : Answered
Chosen Option : 1
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QN1 oF w40 km & 7h 24 B F 5T oERh b AR w8 OF S 40 ki wer BT o A e
ZEAT WET I AU W # BEw mEg w0

Ane X 1. 36 fBme
v 2 40 =T
%3 48 fAwe
X4 45 =T

Question ID : 264330127715
Status : Answered
Chosen Option : 2

Q12 o= wergeim o & amum & BT 88 om & IR o S Fd 28 om A 67 o ST
gm0 i

A" 1 616V5 em?
X2 56145 cm?
X3 62743 cm?
X4 67043 cm?

Question ID : 264330127716
Status : Answered
Chosen Option : 1

Q13 e g Fr ol B8 em ¥ S XY wW g & ofIfE 91 00 TR a0 i @ser 41 XY o S
faewlr 7

Ans 1. 28 em
X2 21 cm
X3 42 cm
X414 cm

Question ID : 264330128098
Status : Answered
Chosen Option : 2

M mF 1-2+3-4+5-6...8 AT 100 921 =5 & A 7T 7
Ans 1. _49

X2 80

X3 55

v 50

Question ID : 264330128080
Status : Answered
Chosen Option : 4
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Q15 gom e =R 2 F7F TREFT 1 §W ST SAOT WA § 7 90 T R & 6§ A
A B I & et I & Sk e

Ane X 1. 12cm
X2 9y3em
v 3 6y3em
%4 8cm

Question ID : 264330127724
Status : Answered
Chosen Option : 2

Q.16 o wremd & 120 werert @ ofEE ¥ 626 W b 30 AT FrEd W T e ar sfwe g G2
= ff ol ) A e g st A st s e |7

SRR
X2 42 79
X3 40 99
X4 39 I

Question ID : 264330127717
Status : Answered
Chosen Option : 1

QA7 ASTU# X My Y o o ST MR SU T Fm e ) Ky, TURTAmT | T 8K XT=2 .5
T UY = 20 em k. 7 SU oA v B

Ans X 1.32 ecm
v 2 28 cm
#3 26 cm
X4 24 cm

Question ID : 264330127726
Status : Answered
Chosen Option : 2
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Q.18 iy fae v Tor T R W BT L, M, N, P 3T O O et (bikes) 3T ST (cars) B T WY

T
plaii]
. %0
= e g
- g -
» o _.l.n--
- wa
—
e
) 1
L w n » a
ks e Car
R da s e w0 B

FaAT L wr o= i, ol P AT ey R g
| L tr:nm e g P ¥ G g = A
I\, =gt g Fndy wr o e o 775 dmm B

it Xigdriskad
X 2 daet |
X3 | a1 =t
v 4 e |

Question ID : 264330128312
Status : Answered
Chosen Option : 4

Q19 2 & b T 2 o sufeat J sk K 530 5 =0 & 50 & Te9Ew W @@ oam

Faferai
—_
A 120 50
B 80 60
c 40 120
D 30 100
E 20 70

L1 = 7¢ 9t # J G99 F S T Sl
L2 = w3 ot 3 K 290 FH # FH I
{L2 = L1) = &me a7 &7

Ans 5 4 90
x270
3 110
X 4. 140

Question ID : 264330128036
Status : Answered
Chosen Option : 3
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Q20 Fmfafam g s A o5 e A 5 S8 & g s a0 T0wA S T §) §F e &
sw F § 5 000 § Mw & ¥ T F o B e wowe 5w 0
Total percantage of marks

@ ¥ a T (Tolal percentage of marks)
fe= (Fohit), #== (Amal), fETw (Bimal), T (Rem). 7= (Raju)

Ans 1. 30%

v 2 25%

3 20%

x4 33.33%

Question ID : 264330128510
Status : Answered
Chosen Option : 2

Q.21

V(1 —sinA)/\(1 + sinA) &7 A &1 87

X 2. secA + tanA
v 3 secA —tanA
X 4 sec?A
Question ID : 264330128384
Status : Answered
Chosen Option : 2
Q.22

T S g s w Rk o s ws S b TR e o e o e 54 b
e 3T Ra.36000 B, S 3RE 2w ow o = o ol Sewh e

Ans ¥ 1. Rs.15000
v 2 Rs.20000
# 3. Rs.25000
# 4 Rs.16000

Question ID : 264330127721
Status : Answered
Chosen Option : 2
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Q.23 0w W muﬂ | T T w # wiiter o = b o 21 vt ww ol

Ans X 1. 40 kg
x 2 41 kg
v 3. 39 kg
x 4. 29 kg

Question ID : 264330126466
Status : Answered
Chosen Option : 3

S R e AT T A T
Ans 1. 6O gfyerT

X 2. 90 g

* 3. 70 gfereE

X 4 80 giaer

Question ID : 264330128295
Status : Answered
Chosen Option : 1

Q.25 p s o frmer et @ 20 R F T wT ERS B ofr 0w ot S 25 Rt S o oW
wEAT ¥ A P s e W e T # oo wwe i

Ans o 50 ﬁ?
v2 100 &=
X320 ﬁ;
x4 25 fe

Question ID : 264330128364
Status : Answered
Chosen Option : 2

Section : General awareness
Q1 Fufifed # 4 o9 YR Sy #t 7d srgydt ot 99 Y & siavid ST 872
Ans 3 1. 3T TR SNwuTed

7 2. dip WY 3R Td

& 3. 9721 SR A1l & A Fad s

X 4. Q% IR

Question ID : 264330124829
Status : Not Answered
Chosen Option : --
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Q2 ﬁai%r?aﬁﬁmmﬁzomaﬁi@rﬁﬁ?mmﬁ@ﬁ%mmmm
USR 82
Ans X 1. FlcH
X 2. ISR
o 3. 'R
7 4. 9RES

Question ID : 264330125621
Status : Not Answered
Chosen Option : --

Q.3 YRAY WU &1 Frafafaa § @ S a1 3 S =Tl $i e @ Gafia 82
Ans ¥ 1.76

X 2.32
o 3.226
7 4.126

Question ID : 264330125403
Status : Not Answered
Chosen Option : --

Q.4 Which Indian financial institution protects investors in a stock market?
Ans X 1. Reserve Bank of India

#% 2. Bombay Stock Exchange
7% 3. National Stock Exchange

" 4. Securities and Exchange Board of India

Question ID : 264330125466
Status : Answered
Chosen Option : 4

Q.5 3fagar 2022 § G TR Wi A {5 350 § 9o S UTd B SRR I&di?
Ans 1. fogR

o 2. fEmmaa wew

7 3. T9e

7 4. TGS

Question ID : 264330125464
Status : Not Answered
Chosen Option : --

Q.6 w;%maﬁwﬁ(ﬁ)ﬁmm-ﬁaesﬁﬁzﬂqwaﬁ$m
ST 87

Ans X 1.Ctrl+Alt+P
X2 A+
& 3.Ctrl + Alt + |
X 4. AL+P

Question ID : 264330124809
Status : Answered
Chosen Option : 1
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Q7 fFafafEa & ¥ oF-wt 7 o1 350 R e 37
P
X 2.t
o 3. F
X 4. T

Ans

Question ID
Status

1264330125473
: Not Answered

Chosen Option : --

Q.8 3y URIER G3Y @l T fRrardt A Rydar 2022 & @9 9 @ v & e 82
X 1. T%d T8I

X 2. A Seifag

¥ 3. IR PSR

X 4 DA SehIe!

Ans

Question ID :
Status :
Chosen Option :

264330125482
Answered
3

Q.9 YRA B B W T SITd B @ F o B e 2
7 1. e

o 2. TEradt

7 3.7

X 4.t

Ans

Question ID :
Status :
Chosen Option :

264330125397
Answered
2

Q.10 7 ¥ A ueeral @1 IR B Wt fie
X 1.

7 2. TR e

# 3. /R

o 4. DEIRA

Ans

Question ID :
Status :

264330124824
Not Answered

Chosen Option : --

22

X 1.8,123.1 km
X 2.8,514.4 km

Ans

7 3.7,818.7km
o 4.7,516.6 km

Q.11 YR ¥, SiSHT 3R IR aur aereiu afed g1 i & 9qs de ot $a dars feat

Question ID
Status
Chosen Option

1 264330125095
: Not Answered
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Q.12 93 qitl & Hay A FrafifEa § § S w3 a8 32
. ST FTHIS THETE 8, TP 304 g werm A feae 3k snfeard fawrfa g &
3R 3% garmasn W &Y e
%ﬁwmﬁ,ﬂ%m@mwﬁmmm%amaﬂﬁﬁw
[

Ans g 1.1 3R 1IGHI
X 2. %ad |
X 3 Aan eRAE
X 4. ®adll

Question ID : 264330124819
Status : Not Answered
Chosen Option : --

Q.13 fgfafaa # 3 fFan Ridew 2022 # $-ama e aifagT tida & 741 +=v fear 82
Ans g 1. TP ST SHTUPBR TREUT SHTART

X 2. g e

> 3. ifq smanT

X 4. Ofga U4 919 fadr g

Question ID : 264330125087
Status : Answered
Chosen Option : 4

Q.14 fafewr S 33T Uil Ft 3R A WRi F g o7 g = far a2
Ans X 1. ORI THR (James Lancaster)

X 2.9 8RE™ (Warren Hastings)

« 3.3 TA=a (Robert Clive)

7 4.9 W3 (Charles Stuart)

Question ID : 264330125400
Status : Not Answered
Chosen Option : --

Q.15 e WRHIE TE® A TR s “AreRiae” fodt?
Ans s 1 UG

2 2. dr ggTa

25 3. gRrd

< 4. 31 e fafera

Question ID : 264330125626
Status : Not Answered
Chosen Option : --

Q.16 5 & 2021-22 B 1 - T S
Ans o p 1. THTH P THE!

X 2. S RS

7 3. R

7 4. digms T

Question ID : 264330125306
Status : Not Answered
Chosen Option : --
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Q.17 YR &R F1 i w9 F e feaeT IuahT fwar srar @ R $uer & o ot
AT TEY oI HHdT 82
Ans 1.3'7QT(Cache)
7 2. R (Register)
« 3.3 (ROM)
> 4.3 (RAM)

Question ID : 264330125383
Status : Answered
Chosen Option : 3

Q.18 YR # AR & IS (AR A1) U A f6Q SI11 wirar 82
Ans X 1 T ydwifer

7 2. Rarr &t

o 3. 1. AT

7 4. 3wIE fSffree @t

Question ID : 264330124786
Status : Not Answered
Chosen Option : --

Q.19 Uf¥g TR, 3R 91T (Aram Bagh), SR gRISTEATIATYTIOg__ AfR@ER |
Ans 1 fowdt

o 2. TR

X 3. faer

7 4. gRIETE

Question ID : 264330125585
Status : Not Answered
Chosen Option : --

Q.20 FHgffEa # ¥ {59 Hut A Ridar 2022 & GAATSENT & RIUT & d8d THT 300

HHITNG! B T@i 2 far 412

Ans _p 1 fami

X 2. OEsd

> 3. Ursiue sfgan

X 4. 3N gfea

Question ID : 264330125463
Status : Answered
Chosen Option : 1

Q.21 1956 % 3NN Hife U=@ A T TYR I

Ans X 1. TUfedl deaqyfa e
" 2. facdta daasifa diem
¥ 3. 3y vaadfa gre
7 4. g daasfg e

Question ID : 264330124815
Status : Answered
Chosen Option : 2
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Q.22 PKL & 83 TEHRUI & Wig-Ta #9 A FHufafaa & A 5 ) At & §ia geraan gam a2
Ans o 1. Qa7 Ol S TS UI3eH

7 2. Sa faeeh S99 Se g

7 3. SaT feedt S ST I

75 4. STE I ST e ursiey

Question ID : 264330125131
Status : Not Answered
Chosen Option : --

Q.23 YRR TRATY HTIHH BT 91 A AT STl 82
Ans X 1. f3%H IR

o 2. TS HmT

X o3 W d =

7 4. JHCHA MUIHUF

Question ID : 264330125477
Status : Not Answered
Chosen Option : --

Q.24 g AETH, FW PIR@13 F) AR ? 91 ITF ST (DNA) B T8 TP ITH!
q@ﬁﬁmw%ﬁ%lhﬁmﬁﬁw‘mmm@m%ﬁm{m
1Y foran i1 gepdr, faHTfora 89T 9 81 STl @ a1 AP 8 STl €1 519 &ffovRd SIfre1d 9y
g oTdl €, 1 3 g ot & 3R IR g1 areR e & et §

Ans 1. 9o (Surgery)
o 2. fafeor faferan (Radiation therapy)
< 3 lﬁmm(%ysiotherapy)
X 4. BN (Chemotherapy)

Question ID : 264330125468
Status : Not Answered
Chosen Option : --

Q.25 fgfifad # § ®19 91 PSS B &1 TP I3 272
Ans 1.9

7 2. e

o 3. 9

X 4. HoET

Question ID : 264330124817
Status : Not Answered
Chosen Option : --
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Combined Higher Secondary Level Examination Tier | 2022

Roll Number

Candidate
Name

Venue Name

Exam Date  [09/03/2023
|[Exam Time  [2:30 PM - 3:30 PM
|Subject CHSL Exam 2022 Tier |

Section : English Language

Q.1 Choose the word that can substitute the given group of words.
One who offers one’s services without being forced

Ans ¥ 1. Scholar
7% 2. Skeptic
25 3. Altruist
&' 4. Volunteer

Question ID : 264330124543
Status : Answered
Chosen Option : 4

Q.2 Select the correct indirect form of the given sentence.
The father said to his daughter, “Your mother will be waiting for me.”

Ans X 1. The father told his daughter that her mother will be waiting for him.
#% 2. The father told his daughter that my mother would be waiting for him.
& 3. The father told his daughter that her mother would be waiting for him.

7% 4. The father told his daughter that her mother was waiting for me.

Question ID : 264330124056
Status : Answered
Chosen Option : 3

Q.3 Improve the underlined part of the sentence. Choose ‘No improvement’ as an answer if
the sentence is grammatically correct.
Fashion is not something that exists in dresses only.

Ans X 1. which exist on
" 2. No improvement
7% 3. that exist of
7% 4. that existing at

Question ID : 264330124171
Status : Answered
Chosen Option : 1
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Q.4 Fill in the blank with an appropriate option.
lllusions are usually related with processes.

Ans ¥ 1. oratory
" 2. visual
25 3. digital
2% 4. audio

Question ID : 264330124365

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q.5 Fill in the blank with the most suitable word.
We won an unprecedented pardon from -President Karzai, and Gulnaz was

freed.
Ans . 1.then

75 2. attime
7% 3. those
75 4. later

Question ID : 264330125784
Status : Answered
Chosen Option : 3

Q.6 Choose the word that means the same as the given word.
Ponderous

Ans . 1. Heavy
# 2. Bluff
25 3. Unruly
75 4. Wondrous

Question ID : 264330124077

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q.7 Choose the incorrectly spelt word.
Ans . 1. Prunke

7 2. Sober
24 3. Tension
75 4. Hinder

Question ID : 264330124073
Status : Answered
Chosen Option : 1

Q.8 Find the part of the given sentence that has an error in it. If there is no error, choose

‘No error’.
A study finds that the average staff cost at a public sector bank is high than that at its

private sector counterpart.
Ans X 1. A study finds that the average staff cost at

7 2. its private sector counterpart.
#% 3. No error
& 4. a public sector bank is high than that at

Question ID : 264330124630
Status : Answered
Chosen Option : 4

https://ssestudy.com’ D OWNload from www.MsEducationTv.com



https://sscstudy.com/

Q.9 Choose the word that can substitute the given group of words.
A person who is indifferent to pain and pleasures of life

Ans ¥ 1.Recluse

7% 2. Vagabond
" 3. Stoic

75 4. Amateur

Question ID : 264330124492
Status : Answered
Chosen Option : 2

Q.10 Choose the word that is opposite in meaning to the given word.
Despondent

Ans X 1. Despaired
7% 2. Reproach
7% 3. Precise

" 4. Hopeful

Question ID : 264330124564
Status : Answered
Chosen Option : 4

Q.11 Fill in the blank with the most suitable word.
| pay too much attention to the stories.

Ans . 1.didn't
75 2. haven't
25 3. wasn't
75 4. hasn't

Question ID : 264330125835
Status : Answered
Chosen Option : 1

Q.12 Choose the word that is opposite in meaning to the given word.
Worried

Ans X 1. Leisure
%" 2. Unconcerned
# 3. Proceed
7 4. Withdraw

Question ID : 264330124407
Status : Answered
Chosen Option : 2

Q.13 Rearrange the parts of the sentence in correct order.
P. to focus more on edible oils/oilseeds than on wheat
Q. the MSP for wheat is up by 2 per cent while
R. that of rapeseed-mustard is up by 8.6 per cent,
S. perhaps indicating that the government wants

Ans . 1.QRSP
X 2.RSPQ
X 3.PSRQ
X 4.PRQS

Question ID : 264330124066
Status : Answered
Chosen Option : 1
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Q.14 Fill in the blank with an appropriate option.
The makers of sports drinks spend tens to hundreds of millions of dollars their

products each year.
Ans & 1. advertising

7% 2. snacking
#% 3. lingering
75 4. varying

Question ID : 264330124028
Status : Answered
Chosen Option : 1

Q.15 Select the correct passive form of the given sentence.
The extremists have assassinated the President.

Ans X 1. The President had been assassinated by the extremists.
" 2. The President has been assassinated by the extremists.
7% 3. The President was assassinated by the extremists.

7% 4. The President is assassinated by the extremists.

Question ID : 264330124627
Status : Answered
Chosen Option : 2

Q.16 Choose the word that is opposite in meaning to the given word.
Amiss

Ans X 1. Gaily
7% 2. Vitiated
& 3. Impeccable
75 4. Marred

Question ID : 264330124044

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q.17 In the following question, out of the given four alternatives, select the alternative
which best expresses the meaning of the Idiom/Phrase.
A bull market

Ans X 1. A fertile field
#% 2. To boast
7% 3. A market where cattle is traded

" 4. Market where prices are rising

Question ID : 264330124071
Status : Answered
Chosen Option : 4

Q.18 In the following question, out of the given four alternatives, select the alternative
which best expresses the meaning of the Idiom/Phrase.
Take your eye off the ball

Ans # 1. To stop paying attention for a moment
7% 2. Take someone for grated
7% 3. Take an advice from a wrong person

7% 4. Deteriorating and headed for complete disaster

Question ID : 264330124644
Status : Answered
Chosen Option : 1
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Q.19 Choose the sentence with no spelling error.
Ans ¥ 1. Fine fthers do not make fine birds.

7% 2. Figne feathers do not make fine brds.
#% 3. Fine fathears do not make fine birds.

& 4. Fine feathers do not make fine birds.

Question ID : 264330124074
Status : Answered
Chosen Option : 4

Q.20 Find the part of the given sentence that has an error in it. If there is no error, choose
‘No error’.
In the five next years, the migration will surely stop.

Ans X 1. No error
75 2. will surely stop.
" 3. In the five next

7 4. years, the migration

Question ID : 264330124057

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Comprehension:

In the following passage some of the words have been deleted. Read the passage carefully
and select the correct answer for the given blank out of the four alternatives.

First, the e-commerce industry has historically struggled with (1) issues. The Internet
has made it possible for customers to place (2) from any location, but that
convenience comes with a cost in (3) of shipping costs and order fulfillment times.
But by hosting their e-commerce sites on cloud computing platforms, merchants can offload
(4) of the server processing work. These third-party systems still (5) full
control over the look and feel of their online stores.

SubQuestion No : 21
Q.21 Select the most appropriate option to fill in blank number 1.
Ans X 1.placing
7 2. flipping
" 3. delivery
7% 4. storing

Question ID : 264330124060
Status : Answered
Chosen Option : 1
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Comprehension:

In the following passage some of the words have been deleted. Read the passage carefully
and select the correct answer for the given blank out of the four alternatives.

First, the e-commerce industry has historically struggled with (1) issues. The Internet
has made it possible for customers to place (2) from any location, but that
convenience comes with a cost in (3) of shipping costs and order fulfillment times.
But by hosting their e-commerce sites on cloud computing platforms, merchants can offload
(4) of the server processing work. These third-party systems still (5) full
control over the look and feel of their online stores.

SubQuestion No : 22
Q.22 Select the most appropriate option to fill in blank number 2.
Ans ¥ 1.systems

7 2. series
" 3. orders
# 4. locals

Question ID : 264330124061
Status : Answered
Chosen Option : 3

Comprehension:

In the following passage some of the words have been deleted. Read the passage carefully
and select the correct answer for the given blank out of the four alternatives.

First, the e-commerce industry has historically struggled with (1) issues. The Internet
has made it possible for customers to place (2) from any location, but that
convenience comes with a cost in (3) of shipping costs and order fulfillment times.
But by hosting their e-commerce sites on cloud computing platforms, merchants can offload
(4) of the server processing work. These third-party systems still (5) full
control over the look and feel of their online stores.

SubQuestion No : 23
Q.23 Select the most appropriate option to fill in blank number 3.
Ans ¥ 1. tags

7 2. shifts
7% 3. firms
o 4.terms

Question ID : 264330124062
Status : Answered
Chosen Option : 2

Comprehension:

In the following passage some of the words have been deleted. Read the passage carefully
and select the correct answer for the given blank out of the four alternatives.

First, the e-commerce industry has historically struggled with (1) issues. The Internet
has made it possible for customers to place (2) from any location, but that
convenience comes with a cost in (3) of shipping costs and order fulfillment times.
But by hosting their e-commerce sites on cloud computing platforms, merchants can offload
(4) of the server processing work. These third-party systems still (5) full
control over the look and feel of their online stores.

SubQuestion No : 24
Q.24 Select the most appropriate option to fill in blank number 4.
Ans ¥ 1.more

' 2. much
7 3. must
7 4. many

Question ID : 264330124063
Status : Answered
Chosen Option : 2
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Q.25
Ans

Comprehension:

In the following passage some of the words have been deleted. Read the passage carefully
and select the correct answer for the given blank out of the four alternatives.

First, the e-commerce industry has historically struggled with (1) issues. The Internet
has made it possible for customers to place (2) from any location, but that
convenience comes with a cost in (3) of shipping costs and order fulfillment times.
But by hosting their e-commerce sites on cloud computing platforms, merchants can offload
(4) of the server processing work. These third-party systems still (5) full
control over the look and feel of their online stores.

SubQuestion No : 25
Select the most appropriate option to fill in blank number 5.
7 1. discard

' 2. retain
7% 3. fumigate
7 4. placate

Question ID : 264330124064

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Section : General Intelligence

Q.1 ¥l Th @RI HeuTaT &, ‘RAMEN’ F1 ‘RIQEV’ i@ SITdT 81 39 B¢ YIS & ‘MODEL’ &Y
9 foran smem?
Ans . 1. PIHSQ
# 2. PHHSQ
7< 3. PHHHR
> 4.PIISR
Question ID : 264330126747
. Not Attempted and
Status : Marked For Review
Chosen Option : --
Q.2 39 farey &1 g forad P I=ATE T8} YaY WS I € il foT ¢ =g |

HE3 gRT A a1 ST 31 (ST §: WS Bl S7b ueh bl A e e fhy
T, qof Temsi R wifrard 3t Sl a1fde | 3. 13 - 13 TR HfEaTd 99 13 S SeHT
PIETT IO AT ST, T ST Hhell 8113 Y 1 T 3 F 3o 34 1 SR PR 1 W3 W
TRt wifeaTt w3 B srgafa 7 )

(59, 118, 236)

(64, 128, 256)

Ans X 1.(63, 126, 242)
7 2. (44, 88, 186)
o 3.(82, 164, 328)
X 4.(37,74,138)
Question ID : 264330126992
Status : Answered
Chosen Option : 3
Q3 Ffe27 AN A8=83ﬁ?48A37A2=9,?|-156A5A3=?
Ans 7 1.48
X 2.46
X 3.47
X 4.45

Question ID : 264330126334
Status : Answered
Chosen Option : 1
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Q4 ﬁwﬂ‘:‘.‘ﬂq“ﬁwmm? 7t T W & hw i argte w ST @ A

A

|

Ans

Question ID : 264330127287

Status - Not Attempted and
" Marked For Review

Chosen Option : --

Q.5 I faweu ®) giT &l il Sen @ S SHt we Tafia & for ave ugel T gt
TEI A Heftrd @ ok fadt e et g | gafia 21
5432 :2345::6192: 1269 :: 7835 : ?
Ans ¥ 1.3587
X 2.5387
X 3.5378

o 4.3578

Question ID : 264330127066

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q.6 () P arfY 3T AT 7T Tk wopb-gay A fohY ab/fFramRisy & afta &1 S adb/fraw
[EEY % YR W 3T T fawedt & | (::) & T8 3R G W3/=Vsg TH &1 gAYl
aq : forgar : geE: 2

Ans 3 1 foF ST
X 2. O
> 3. 3madF B
o 4.9

Question ID : 264330127000
Status : Answered
Chosen Option : 4
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Q7 MLEHIUMBIR MBTRTRIQ, sHTURIL, QT HIE 81 S, M A FA Tafta 82
Ans 1. YfSt

X 2.qf

o 3.9

X 4.9

Question ID : 264330126752
Status : Answered
Chosen Option : 3

Q.8 Tw g foran T § e ww u g §1 o e fapedt & @ 97 W Rwew gfe s
:Esa,,_gITRNA, QSRI, ?
Ans ¥ 1.POI
o 2. PXI
7 3.PXK
X 4. PYM

Question ID : 264330126751

. Not Attempted and

Status : Marked For Review

Chosen Option : --

Q.9 eaf & IR EI A | T <l v R T9H €| T3f & S 3reT TE B ge|
Ans 1. (SRR, IR, GPTER)

X 2. @, wrifde, dis)

X 3. (e, fifdc®, [REeR)

o 4. (FREH, TR, F3MeR)

Question ID : 264330127305
Status : Answered
Chosen Option : 4

Q.10 me#snmnwwmmwmmmtmwmm
[

eele) |8

A
o R
e
X2 %L
Y
X3 @:
mn
x4 @
-~

Question ID : 264330126758
Status : Answered
Chosen Option : 2
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Q.11 mﬁaﬁﬁﬁmﬁmﬁwmﬁﬁﬁqmquﬁm?

1.27+3-18%x3+9=24
I.12+8%x12+16-7=19

Ans X 1.13RIIEH
o 2. 5ad I
s AdeiRad
X 4.%9d |

Question ID : 264330126840
Status : Answered
Chosen Option : 3

Q.12 (::) & T 3R T T Teg fhalt o/ ramRISY & SMUR IR Te-gat @ Hefda § | 90
ﬁm:ﬁqmgmmwmmﬁm'ﬁ%(:)%arﬁsthawmmaﬁqﬁm
g3 : i 1 ?

Ans ¥ 1. Ui
X 2. diden
o 3. S

7 4. gasce fdhren

Question ID : 264330126331
Status : Answered
Chosen Option : 3

Q.13 fgfafaa vy ¥, fRu e fawel # @ srem srer/eiery &1 ggl
Ans ¥ 1.ACF

7 2.0QT
o 3. PRV
X 4.xzC

Question ID : 264330126754
Status : Answered
Chosen Option : 3
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Ans

Q.14 FE & T e B AW T § AT IR OF e s A T A wve ampte & e

¥l & wk s el O wAm fe O S E T O T e v e Pk i

i
. -

1'
i
i B

V, \%
5

x 2.

o
<4

4:D'H
odq" b

4

opb.<d0O
-2
<]

P
|

opb'qo

o
4

P
=]

b
P00

X
>

<
[

Question ID : 264330126961
Status : Answered
Chosen Option : 1

Ans

Q.15 Fafafad vy #, § ¢ @ § ¥ gu wen # gl

20, 22, 26, 32, 40, ?

& 1.50
X 2.52

7 3.48
X 4.54

Question ID : 264330126332
Status : Answered
Chosen Option : 1

Ans

SITET?

1. Convert
2. Convex

3. Convect
4. Convent
5. Convict

25 1. Convert
75 2. Convent
7% 3. Convict
& 4. Convex

Q.16 foT 7Y WGl B YGHIN & FATHR TR B TR, BI-AT Weg A RIF R

Question ID : 264330127296
Status : Answered
Chosen Option : 4
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Q.17 39 faweu o gfg R P HET I Yay g B! € St T ¢ gy §
Wﬁmm%mmgl
ﬁi:ﬁ@aﬁ&ﬁﬁ%ﬂaﬁﬁaﬁﬂaﬁﬂﬁﬁﬂ@ﬁwsﬁwmaﬂ

wifeul
I 13 - 13 W AFHATE S 13 BT ST /AT AN ST 3M1fe Far o1 wpar 3113 3 1
T4 3 W 3eT A B AR R 1 TG 3 W IOy Wfran w3 #1 srgufa T8 )
56, 121, 242
§7s, 165, 726;

Ans X 1.(44, 88, 166)
X 2.(28, 110, 220)
o 3.(36, 99, 198)
7 4.(62,98, 187)

Question ID : 264330126743
Status : Answered
Chosen Option : 3

Q18 wors & T gEE w B S ¥ AT I O e S AW R AN e st R
t|#ﬂﬂw##mmmmtmnhmmrmmw

= =

o o

[

L&} o

Ans

Question ID : 264330126711
Status : Answered
Chosen Option : 1

Q.19 12 o 7T vy & o FU= Ry U § &R 37 Y= & nuR W o fspd Ry mu #)
3TYRY AT @ T T 1T Sy I € =18 @ 9H=I: T a2l & ool Uella gl 81 |t
freput @ ufew ok AR frer Fifome % few e freesf # @ Fi9-a1 e aiffes Tud
3T T Hol & SgAR B
BPY:
|mﬁ?3ngg?rm%é
II. $© - Tard g1
o
1. 9 a3 T8 E
I1. ol Tare 9§

. $3 Tare 99 &
Ans g 1. Had By 11l HYF S AR B

X 2. e ot & SgER B
7 3. sy | 3R 11 G U F SR E |
7 4. 1 ot ey ol & SR T B

Question ID : 264330126756
Status : Answered
Chosen Option : 1
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Q20 o @ st F 2 sworaeer et Rond ok F, Bk o ol w1 6 AR e BB o
Fem # gy a4 A e & Rl e o

2 6

Ans 1. D
X2 1
X3 5
s4 3

Question ID : 264330127607
Status : Answered
Chosen Option : 4

Q.21 wﬁmaﬁgﬁqﬁﬂﬁ ﬁmwwawm%ﬁﬁqwmﬁ
T3 gRT AT fohaT et @1 (241 3 WSS Y S ed S W ST 3T Hu
ﬁmqpfmeﬁwmmﬁwmmw 13 — 13 IR AFHUTE S 13 HI ST
TEITIT ATOT AT 31 35T ST Wepdt 81 13 Y 1 TF 3 H 3T e B R fPe 1 TE3 W
T Tfhand H31 P ergAfa T8 ?)

(18, 9, 36)
(36, 18, 72)

Ans 7 1.(32, 16, 64)
2 2. (46, 33,132)
7 3.(58, 29, 118)
X 4.(24,12, 36)

Question ID : 264330127217
Status : Answered
Chosen Option : 1

% & ak gl # fraw P B2

By

T

Ans  x 113
X2 12
X3 11
v 14

Question ID : 264330127084

Not Attempted and
Marked For Review

Chosen Option : --

Status :
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Q.23 fhf} U W T UTHT &, ‘CAPTURES’ 1 ©24111206182219’ 1T &ITdT 8, ‘DECORATE’
P 23524159175 {1 SITAT 81 §9 T HTHT & ‘EDUCATOR’ Y ) foram SImeem?

Ans X 1.224632620218

75 2.2246326201219
o 3.2246326201218
75 4.2246322601218

Question ID : 264330126748

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q.24 (::) F I} 3iX foU TTE T3 wop-gay & fod) adh/fFramRisy & Seifta &1 S adb/fraw
[EEY & YR W 3T T fadedt & | (::) & 18 3R T W3/=Mg TH &1 gAYl
gﬁn:gﬁm::%a:?

Ans 1. STd9

o 2.7
75 3. aydRd!
X 4. 3wt

Question ID : 264330127225
Status : Answered
Chosen Option : 2

R e e #, wwt A o g Gl

Taxi Buis

4 s,

Viehicles
Taxi - &1, Bus - 6, Vehicles - a@=
Ans 1 15
X213
X3 7
x4 14

Question ID : 264330127088
Status : Answered
Chosen Option : 1

Section : Quantitative Aptitude
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Q1 g oy oftfir F=an 77 om 3T 154 om B s et & @ = e Em
Ans X 1. 15 cm

#2.13.25 cm

31225 cm

%416 cm

Question ID : 264330127741
Status : Answered
Chosen Option : 3

Q2 g wufamt it v W o s A e T i x -2, 0+ 4ox o+ B3 x + 10 I WS O Wk
FEA] FET A WA Al §| FE & A% WA 5 a2

Ans 1y & 1
K2 x-2
3 x+ 5
sS4 X+ 2

Question ID : 264330127742
Status : Answered
Chosen Option : 2

@3 (@ + b+ 2c)(a? + b2 + 4c? - ab - 2bc - 2ca) F AT FAT &7
Ane %1 a3 - pd - &P - Babe

X2 g3 + b3 + 4¢3 - Babc

%3 g3 - pd - 8c - 3abe

v4 al+ b3+ 8 - Babe

Question ID : 264330128079
Status : Answered
Chosen Option : 4

as A& tanx =22, & sin X & A FwA 7

Ans 1?
K1 —
389
9
N2 —
389
?
< 3.
389
10
Er——
389

Question ID : 264330126472
Status : Answered
Chosen Option : 4
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Q5 14 |
Enﬁnﬂ%maﬂ%-mmmﬁmm?am!.w#ﬂﬂwn’mtl 8

Ans X 1. 31.5 kg
x2 32 kg
v 3. 33 kg
x4 34 kg

Question ID : 264330126470
Status : Answered
Chosen Option : 3

Q.6 = Fmmt # 7 off FEw W 20 s o TUm F L s & e b TR o Tmmt e o
BRAZ §, & wf gum 7 A o

Ans 1. 5260
# 2. 4920
# 3. 5160
# 4. 5040

Question ID : 264330127744
Status : Answered
Chosen Option : 1

Q7 wx ool # AT AN £ 45 ¥ AT 4 9T 10 9RYE A B A b ool & ¥ ae i ew

AT W ¥ wI g
Ans v 2 g . a
x26:5
x39:5
x4+ 8:5
Question ID : 264330128068
Status : Answered
Chosen Option : 1
Q.8 mp Bafes T w4, 20 T AT 6

oy T o g l’rtrlﬁ'l 10
e FAa. 360 Frarer s Wrew gt 8 A g

Ans X 1. Rs. 1200
# 2 Rs. 800
v 3 Rs. 1000
%4 Rs. 1400

%5?1

Question ID : 264330128297

Not Attempted and
Marked For Review

Chosen Option : --

Status :
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Q9 wrp-Q=2-30:R=4-58TR:3=2:-1FP: R:-smawmsmy’

Ans @116 :30: 15

X212 :25:10
x310:5:4
x4+9:10: 15

Question ID : 264330127746
Status : Answered
Chosen Option : 1

Q10 ey T v Yo wEE # 7 Eet & @SR & ww S g o
:-iog

y i
N R .

@ \ T

.-'I L4

. 500 N

400 \ 200
w100

.

%1 %2 51 54 585 56 57

S1 % wafat & Fuw 52 F W & wew ¥ ey v aw P
Ans X1 100 wferE

v 2. 60 wiaeE

x 3. 150 gfgera

x4 80 gfaers

Question ID : 264330128087
Status : Answered
Chosen Option : 2

QM 2 fr o Tom YW & OF S9T & 6 FATET F 39 gefar

F& 3a0 & H & 307 ® 3T e 87

Ans X1.5:6
x23:2
x35:4
v44:5

Question ID : 264330128010
Status : Answered
Chosen Option : 4
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Ans 112605
X2 116/
x5 49/8
x4 89/6

Question ID : 264330127756
Status : Answered
Chosen Option : 1

Q.13 o= = fndfis 77 7 60 BT o T TN £ R 220 km @ 3 TR AR TR W W
& T 3% H9A TR T 14 kmvhr O S on §1 w7 & oen o = i

Ans ¥ 1. 63 km/hr
2. 70 km/hr
X 3. 66 km/hr
x4 77 kmthr

Question ID : 264330127740

Status Not Attempted and
" Marked For Review

Chosen Option : --

O ofy 5A72B, 11 @ sr=w ¥, ¥ B - A FT HT FT &7

Ans 1 4
X2 3
X3 4
X4 2

Question ID : 264330127855

Status Not Attempted and
" Marked For Review

Chosen Option : --

Q15 ADEF & M 3w N w7 DE 3t DF spamaft =7 fig &) MN, EF & m@me=t &
MN : EF =2 .5 &7 DE = 60 cm & =1 ME &1 ==1§ & #7
Ans o1 36 crm
X2 24 cm
%3 48 cm
%4 54 cm

Question ID : 264330128100
Status : Answered
Chosen Option : 1
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Q.16

Ans 5 g K, |
X2 17
X3 0
42

o K+:+2=0 3ﬂ7K¢G.?—|‘l’K”+$aﬂmm%?

Question ID : 264330127752
Status : Answered
Chosen Option : 4

QA7 3 v W w18 T A T AT
HAT ¥ B WEAT £ TR HIY S8 368

Ans 1. 1/6
x21/5
X3 1/4
413

Question ID : 264330128289
Status : Answered
Chosen Option : 1

Ans s 9
X2 1
X3 0
X4

18 (1 +tan @ - sec 8)(1 + cot @ + cosec 8) H HT FIT &2

Question ID : 264330127758
Status : Answered
Chosen Option : 1
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Q19 Frmtafam qn sy & T aon & 3 smanst gamy e samw aat 2018, 2016 v 2020 #
gt Y R (7 #) (the sales of books In thousands) =% awfan wrar )
a6 2018 & wEr A (branch A) & F R shr ad 2020 F e © (branch ©) Fr 5= B =
s a7

W I018 ®WI019 = 20Z0

Branch C

Ans a1 4 -3
v2'1:8
x31:1
xaih:1

Question ID : 264330128386

Status : Answered

Chosen Option : 2

Q20 gy & o e A o ST = By v oEw I oW & SemEw =) a3

3

i@ imig i-

REE
B e

A1 = W 5 FEect sE A T we o o & B9 SR ¥ 8T F 5
AZ = 557 O, F 3T H a3 S o 9w & sitee ==
(A2IAT) T A w4 BT

Ans 1 1
X2 50
v 10
X4 5

Question ID : 264330128313

Status : Answered

Chosen Option : 3

9% sin2 21 + sin? 69 FT AF FT §7?
Ans 5 g 2

v2 1

X3 05

x40

Question ID : 264330128282

Status : Answered

Chosen Option : 2
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Q22 vz mray foagw & 651 12 om &1 5 TR T § amae # S = oA
Ans X1 4 em

X2 3 cm

v 3 24/3 em

x4 4\@ cm

Question ID : 264330127751
Status : Answered
Chosen Option : 3

Q2 g R TRt h s S AR S et 16 em L
S A I N

Ans X112 em
%210 cm
%39 cm
4 8 cm

Question ID : 264330126471
Status : Answered
Chosen Option : 4

Q.24 g Re.3500 # o i wiesr B ve of ¥ 26 SRR & we oY oy mE o 10 gfhe B ofr
= TR T AR A F A e A e b A A e s b sew ol = e me o

?’_}
At 1 Rs.1000 3T Rs.2500

X 2 Rs.1500 3T Rs.2000
X 3 Rs.1250 3T Rs.2250
¥ 4 Rs.1500 3T Rs.1720

Question ID : 264330128070
Status : Answered
Chosen Option : 1

Q2 rrrm TR R ETI A 2 W A ) XY O I e a wew b S e
= X T Y 5T T EET B OXVE W R e 1Y

Ane v 90 Rl
X2 g5 Tt
X 8o fehr
¥4 85 fBafr

Question ID : 264330127749
Status : Answered
Chosen Option : 1

Section : General awareness
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Q.1 ®F i yaadly geAT AT & faRi ) snuria @2
Ans 1. Tt daadfa aemn
< 2. 7 Ugafg e
7 3. 7y vaadfg Qe
2 4. I daauig e
Question ID : 264330124840
Status : Answered
Chosen Option : 1
Q.2 geu-ify faeg iy (¢ sifee offe dw) & 7 | oIt oA arelt Aife Faff@a d @
frea s e
Ans X 1. TS Dli-are™d
> 2. s fia
X 3. e 3
o 4. TS SRS
Question ID : 264330124849
Status : Answered
Chosen Option : 4
Q.3 ffafaa # F $19 919 Y= 98 T8 282
1. IFY Ui STIa WX 7 aTel 9 S1d pgarar gl
I1. %9 ga-1 #1 $aRf W g9 S1d 994 §1
. {5t avg R T 916 99 ST A B a1 F uikads HR qHar g afe B!
3rpfa # A=K
Ans 1. %Had Il
o 2.0 | 3R Il
Zo3 R
X 4. FaA 13RI
Question ID : 264330124844
Status : Answered
Chosen Option : 2
Q4 FPrufifEd § A $19-91 T rSeye fasy 78 22
Ans 1 AR
7 2. sle Afta fifer
X 3. @R
o 4. TRPIS IR
Question ID : 264330125158
Status : Answered
Chosen Option : 4
Q.5 g A ster svsHH, PR §u ags / FRT @ gheT 31
Ans 1. 10feh
> 2 sfEhaaa
7 3. 9fgh=a
> 4. 7SR A9
Question ID : 264330125595
Status : Not Answered
Chosen Option : --
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Q.6 T URHT HTaT $e TSt T ST F 1T 2022 F (2025 9@) fFreifaa $= foar man ur?
Ans 1. Rraurd Rig

X 2. <dg gzl

> 3. BRIy TES

X 4. ARet Aot

Question ID : 264330125407
Status : Answered
Chosen Option : 1

Q.7 Wits ARId & Ug R Ued g1 ard Ugd WRg JA1 3t o1 42
Ans ¢1.ﬁnmﬁmﬁ

X 2. fawa

X 3.%. UH. SR

7 4. g

Question ID : 264330125402

. Not Attempted and
" Marked For Review

Chosen Option : --

Status

Q.8 3mSR (1IcC) Yo fordhe fay U 2023 F AWETH! HIH-TT 3] HRM?
Ans X 1. JEESN

X 2. siregferan

7 3. afamn srpiet

o 4. URd

Question ID : 264330125330
Status : Answered
Chosen Option : 4

Q9 YR P FRAR @A | A+ are i vae fpa adf wifva fsam am a1
Ans . 1.1878
7 2.1877
X 3.1876
7 4.1875

Question ID : 264330125175

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q.10 Hgrdl Boft &1 fR fo wrsa H 181 82
Ans s 1 FlCH

X 2.3

X 3. BUTg

X 4. IRTES

Question ID : 264330125398
Status : Answered
Chosen Option : 1
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Q.1 fFafafEa # 3 Si-a1 T aifieed §9 smTd fShie Red (digw) 2022 & "srfiawi”
I H YUH I W 82

Ans X 1. dffEETg
2. TERTE
¥ 3. ey TR
X 4

Question ID : 264330125587

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q.12 28 JaTS, 2022 H YR {1 B BT WS fAATaTES Uid HiaT 47 912
Ans X 1. 3MSUATY 3REd

o 2. TSTIE fashid

X 3. STy fawHied

X 4. SMESTICY Rrarit

Question ID : 264330125389
Status : Answered
Chosen Option : 2

Q.13 2020 ST SHiEfU® Bal # URA A fFa w@vf uegs sia?
Ans ¥ 1.2

X 23

& 3.1
4.0

Question ID : 264330125105
Status : Answered
Chosen Option : 3

Q.14 Fgfafaa # T {59 idwe Foil (P) FT ST THTH-aS 365 W fdl wIgd B A9 HA
¥ e fpar srar 22

Ans X 1. Alt+F
X 2. At+S
o 3.Ctrl+S
X a.ctl+F

Question ID : 264330124834
Status : Answered
Chosen Option : 3

Q.15 ;ﬂﬁgﬁﬁﬁ%ﬁmaﬁﬁmﬁ)mmw%mmmmaﬁm
?
Ans  x 1. fafeRor oiR Tre g
o 2. fafezo
X 3.3

7 4. ¥agd

Question ID : 264330124842
Status : Answered
Chosen Option : 4
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Q.16 wqﬁaﬁfﬂwﬁmw@mﬁv&ummaﬂnﬁhersmmwaﬁmm
YURY sFgaR 2022 W g fmar mar am
Ans X 1. gyEE A At

o 2. ufa Sioe g
X 3. XemEh ey Rig
> 4. foaeEh fder Sarao

Question ID : 264330125388
Status : Answered
Chosen Option : 4

Q17 TH____ Id1 98 WTdT § o1 TW-3@1d TP YR 3% gRT fae=i & a9 o3 &
@wﬁamﬁvww%maﬂamﬁﬁmm%l

Ans X 1.LIBOR (ftER)
7< 2. VOSTRO (Argh)

& 3. NOSTRO (FIg))
# 4. MIBOR (fER)

Question ID : 264330125391

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q.18 YR A 2019-20 F TR FA IATG BT 33% AT TS BT 3N SATGH Ao
Tl

Ans ¢1.II'€H§I%(52T
X 2. anfem
/< 3. HeRY
X 4. FAlcH

Question ID : 264330124971
Status : Not Answered
Chosen Option : --

Q.19 Fmfifed §  fra fvea & frg sigm $AR 3 T ReoR o1 82
Ans  _p 1. ¥%H

X 2. fem W

7 3. ey

X 4. 9aden

Question ID : 264330124976
Status : Answered
Chosen Option : 2

Q.20 R AR HRA F At # 4 fFa Tsa d fRE 82
Ans ¢ 1. qfEATg

7 2. FHle®

o 3. 3fifS=m

# 4. U8RIy

Question ID : 264330124810
Status : Answered
Chosen Option : 3
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Q.21 aaﬁ%hmgfafﬁar&r‘raﬁ (50°-70°) ¥ AFER APy I U WA §152 i we
FTR

Ans 1.Fl1=ﬁTrr(Llanos)
> 2. 9c8(Veld)
7 3.8 (Tundra)
o 4. & (Taiga)

Question ID : 264330125172
Status : Answered
Chosen Option : 3

Q22 YR ERYA P aaET S ARy A A TE R
Ans ¥ 1 TSl

> 2. f3ea

o 3. TIgH T AR (GARCS W 3 3MARe)

7 4. JUYUTHSR (qHH =)

Question ID : 264330124854
Status : Answered
Chosen Option : 1

Q.23 P § | 9 91 I 7R F Bl @ 78 ST 22
Ans _» 1 gUCElc"

X 2. Tafe

X 3. Wiauig

X 487

Question ID : 264330125393
Status : Answered
Chosen Option : 1

Q24 YTPI, 150 1 WO Ao @ verd §1
Ans  y 1. 3RS

X 2.5

7 3. sfiEmeRr

X 4. O9E

Question ID : 264330125461

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q.25 YR G o1 4297 Ie ARIFTH, 1976 A AU Ft yweT & Fafaf@a d 3
fra =fre frar 22

Ans X 1. AIHAATHS (Democratic)
25 2. TTURTSY (Republic)
o 3. UYFRUE (Secular)
7 4. Tguf UYa-TUF (Sovereign)

Question ID : 264330125178
Status : Answered
Chosen Option : 3
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Combined Higher Secondary Level Examination Tier | 2022

Roll Number

Candidate Name

Venue Name

Exam Date 09/03/2023

|[Exam Time 5:15 PM - 6:15 PM
|Subject CHSL Exam 2022 Tier |

Section : English Language

Q.1 Choose the word that is opposite in meaning to the given word.
Knack

Ans ¥ 1. Vile
75 2. Lesson
7% 3. Process

" 4. Inability

Question ID : 264330124642
Status : Not Answered

Chosen Option : --

Q.2 Improve the underlined part of the sentence. Choose ‘No improvement’ as an answer if
the sentence is grammatically correct.
The medieval knight was knew for his horsemanship.

Ans & 1. was known
75 2. were known
7% 3. was knows

#% 4. No improvement

Question ID : 264330124587
Status : Answered
Chosen Option : 1

Q.3 Improve the underlined part of the sentence. Choose ‘No improvement’ as an answer if

the sentence is grammatically correct.
He sharpened his pencil, but the lead broken as soon as he started writing.

Ans ¥ 1.led break
7 2. lead breaking
w" 3. lead broke

75 4. No improvement

Question ID : 264330124068
Status : Answered
Chosen Option : 3

Q.4 Fill in the blank with an appropriate option.
The U.S. has military in many Middle Eastern countries.

Ans X 1.townies
o' 2. forces
7% 3. denizens

#5 4. personal

Question ID : 264330124470
Status : Answered
Chosen Option : 2
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Q.5 Select the correct indirect form of the given sentence.
He said, “I will never hurt you.”

Ans ¥ 1. He said he should never hurt me.
#% 2. He said that he will never hurt me.
#% 3. He says that he will never hurt me.

" 4. He said that he would never hurt me.

Question ID : 264330124212
Status : Answered
Chosen Option : 4

Q.6 Find the part of the given sentence that has an error in it. If there is no error, choose
‘No error’.
Plastic debris in the ocean can become coated with algae and other marine microbes
that produces a chemical scent.

Ans ¥ 1. No error
" 2. marine microbes that produces a chemical scent.
#% 3. coated with algae and other

#% 4. Plastic debris in the ocean can become

Question ID : 264330124240
Status : Answered
Chosen Option : 4

Q.7 Find the part of the given sentence that has an error in it. If there is no error, choose
‘No error’.
No doubt, human minds are good on predicting the worst.

Ans ¥ 1. No doubt, human minds
" 2. are good on
7% 3. predicting the worst.
#% 4. No error

Question ID : 264330124213
Status : Answered
Chosen Option : 2

Q.8 Fill in the blank with an appropriate option.
Wash, rinse and drain water from quinoa and

Ans X 1. setoff
' 2. setaside
75 3.setin
75 4. set upon

Question ID : 264330124080
Status : Answered
Chosen Option : 2

Q.9 Choose the sentence with no spelling error.
Ans X 1. take this issue vary seriusly.

75 2. | take this issue very serisly.
& 3. | take this issue very seriously.

75 4. | take this isue very seriously.

Question ID : 264330124230
Status : Answered
Chosen Option : 3
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Q.10 Select the correct passive form of the given sentence.
The maid washes the windows every week.

Ans ¥ 1. The windows were washed every week by the maid.
" 2. The windows are washed every week by the maid.
#% 3. The windows was washed every week by the maid.

7% 4. The windows are wash every week by the maid.

Question ID : 264330124237
Status : Answered
Chosen Option : 2

Q.11 Choose the word that is opposite in meaning to the given word.
Anomalous

Ans X 1. Outlandish
" 2. Customary
#% 3. Endemic
75 4. Alien

Question ID : 264330124122
Status : Answered
Chosen Option : 2

Q.12 Rearrange the parts of the sentence in correct order.
P. plastics, and not available in sufficient quantities in India
Q. rather one for specific, targeted applications as a majority of
R. compostable plastics are more expensive than conventional
S. compostable plastic packaging is not a blanket solution, but

Ans X 1.RPQS
X 2.SRPQ
X 3.PQRS
" 4. SQRP

Question ID : 264330124222
Status : Answered
Chosen Option : 4

Q.13 In the following question, out of the given four alternatives, select the alternative
which best expresses the meaning of the Idiom/Phrase.
To shake in one’s shoes

Ans & 1.To be afraid
7% 2. An unpleasant scenario
7% 3. To leave no remark

7% 4. To fail to understand

Question ID : 264330124254
Status : Answered
Chosen Option : 1
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Q.14 Improve the underlined part of the sentence. Choose ‘No improvement’ as an answer if
the sentence is grammatically correct.
The Blue House is practising it’s songs for the competition.

Ans X 1. practised it's
75 2. practise its
#% 3. No improvement

" 4. practising its

Question ID : 264330124354
Status : Answered
Chosen Option : 4

Q.15 In the following question, out of the given four alternatives, select the alternative
which best expresses the meaning of the Idiom/Phrase.
A fish out of water

Ans # 1. A person out of accustomed environment
#% 2. To kill somebody
7% 3. To criticize someone

7% 4. A dead person

Question ID : 264330124227
Status : Answered
Chosen Option : 1

Q.16 Choose the word that is opposite in meaning to the given word.
Nadir

Ans ¥ 1. Bottom
7% 2. Base
7% 3. Docile
" 4. Climax

Question ID : 264330124355
Status : Answered
Chosen Option : 4

Q.17 Choose the word that means the same as the given word.
Ridicule

Ans X 1. Pathology
" 2. Derision
7% 3. Resolute
75 4. Derivation

Question ID : 264330124233
Status : Answered
Chosen Option : 2
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Q.18 Some parts of one or more sentences have been jumbled up, and labelled A, B, C and
D. Select the option that gives the correct sequence in which these parts can be
rearranged to form a meaningful and grammatically correct sentence.

Nurses, unlike physicians, have

A. been slow to adopt these technologies

B. and the reasons for this may relate to the status

C. of both these professions

D. within the hospital setting

Ans ¥ 1.DBAC
& 2. ABCD
7 3.CDBA
# 4.BCDA

Question ID : 264330125769
Status : Answered
Chosen Option : 2

Q.19 Select the option that will improve the (bracketed) part of the sentence. In case of no
improvement select the option 'No improvement'.
When you ride a horse, (you sat on it and control it's) movements.

Ans X 1.you seated on it and control it's
#% 2. you sit on it and afterwards control it's
& 3. you sit on it and control its

#% 4. No improvement

Question ID : 264330125824
Status : Answered
Chosen Option : 3

Q.20 Choose the incorrectly spelt word.
Ans  # 1. Agravate

# 2. Cramp
% 3. Stamp
7 4. Damp

Question ID : 264330124229
Status : Answered
Chosen Option : 1

Comprehension:

In the following passage some of the words have been deleted. Read the passage carefully

and select the correct answer for the given blank out of the four alternatives.

| have always been bad at journaling. All my childhood diaries include major gaps: In one (1)

, | am 8, visiting my aunt. In the very (2) , | have experienced puberty and have

a crush on Mohit, the kid (3) sits behind me in biology. Today, my journal and | are

something like estranged acquaintances, who check in every now and then just to keep in (4)
, without really understanding why. Yep, we say to each other in passing, everything’s

good. Hope all is (5) with you!

SubQuestion No : 21
Q.21 Select the most appropriate option to fill in blank number 1.

Ans o 1. entry
7% 2. section
7% 3. passing
7 4.terms

Question ID : 264330124216
Status : Answered
Chosen Option : 2
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Comprehension:

In the following passage some of the words have been deleted. Read the passage carefully
and select the correct answer for the given blank out of the four alternatives.

| have always been bad at journaling. All my childhood diaries include major gaps: In one (1)

, | am 8, visiting my aunt. In the very (2) , | have experienced puberty and have
a crush on Mohit, the kid (3) sits behind me in biology. Today, my journal and | are
something like estranged acquaintances, who check in every now and then just to keep in (4)
, without really understanding why. Yep, we say to each other in passing, everything’s
good. Hope all is (5) with you!

SubQuestion No : 22
Q.22 Select the most appropriate option to fill in blank number 2.
Ans ¥ 1.over

7 2. earlier
& 3. next
7 4. former

Question ID : 264330124217
Status : Answered
Chosen Option : 2

Comprehension:

In the following passage some of the words have been deleted. Read the passage carefully
and select the correct answer for the given blank out of the four alternatives.
| have always been bad at journaling. All my childhood diaries include major gaps: In one (1)

, | am 8, visiting my aunt. In the very (2) , | have experienced puberty and have
a crush on Mohit, the kid (3) sits behind me in biology. Today, my journal and | are
something like estranged acquaintances, who check in every now and then just to keep in (4)
, without really understanding why. Yep, we say to each other in passing, everything’s
good. Hope all is (5) with you!

SubQuestion No : 23
Q.23 Select the most appropriate option to fill in blank number 3.
Ans . 1.who

7 2. whom
7 3. which

7 4. whose

Question ID : 264330124218
Status : Answered
Chosen Option : 1

Comprehension:

In the following passage some of the words have been deleted. Read the passage carefully
and select the correct answer for the given blank out of the four alternatives.
| have always been bad at journaling. All my childhood diaries include major gaps: In one (1)

, | am 8, visiting my aunt. In the very (2) , | have experienced puberty and have
a crush on Mohit, the kid (3) sits behind me in biology. Today, my journal and | are
something like estranged acquaintances, who check in every now and then just to keep in (4)
, without really understanding why. Yep, we say to each other in passing, everything’s
good. Hope all is (5) with you!

SubQuestion No : 24
Q.24 Select the most appropriate option to fill in blank number 4.
Ans . 1.touch

< 2. vision
7 3. taste

7 4. glory

Question ID : 264330124219
Status : Answered
Chosen Option : 1
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Comprehension:

In the following passage some of the words have been deleted. Read the passage carefully
and select the correct answer for the given blank out of the four alternatives.

| have always been bad at journaling. All my childhood diaries include major gaps: In one (1)

, | am 8, visiting my aunt. In the very (2) , | have experienced puberty and have
a crush on Mohit, the kid (3) sits behind me in biology. Today, my journal and | are
something like estranged acquaintances, who check in every now and then just to keep in (4)
, without really understanding why. Yep, we say to each other in passing, everything’s
good. Hope all is (5) with you!

SubQuestion No : 25
Q.25 Select the most appropriate option to fill in blank number 5.
Ans ¥ 1. mild

7 2. virtuous
7 3. bling
o 4. well

Question ID : 264330124220
Status : Answered
Chosen Option : 4

Section : General Intelligence

Q.1 7 fRE T vy ¥ $© HY AT TT ¥ 3R 39 FUH & YR R $5 fepd Ry M #
3P AT @ fp 3T T8 Fy= 9 € 918 9 GHId: T a2 § e Ueild gid 8 | Jei
frrepul @1 ufew ok e g P fo fog e fAewul § & S19-ar Feed aifde Fu @
T MY Hl & AR B
DY
I.WF,T%I
NFST,PEI
forea:

:i%gliﬁ%l
&S P, F TS I

Ans 1 f e Buet & SER ©
o 2. Paa ey | Byl & AR §
7 3. 59 I || HYUT & SER §
7 4. %ad Y 11 HY P STAR &

Question ID : 264330126906
Status : Answered
Chosen Option : 2
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Q.2

Ans

i o R # 7 W sty & O S Bt g # wa fre (0 B o wee b
R > AlO R off 7
R o Q

x3 |C QO

Question ID : 264330126908
Status : Answered
Chosen Option : 2

Q.3

Ans

39 faweu o1 g o P YTATE TE Y AT Pl & il fOT 710 =g &
HESHT GIRT AT 541 W16 31 (AT : W3 1 37 e 3idhl § 3o 3rerT fbg
o, qof Temaeit uR wfhard &t St 9iRT ] 39T, 13 - 13 W HipaTd O 13 Y SilsT
mamrgmmyarr%%mmm%l 13PI1TG3H M HA PR PR 1TW@I W
Tty wfhaTd B3 Ft rgafa T8 ?)

(39, 78, 81)

(42, 84, 87)

7 1.(60, 120, 124)
7 2.(21,42, 49)
75 3. (43, 86, 95)
o 4.(84, 168, 171)

Question ID : 264330127292
Status : Answered
Chosen Option : 4
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Q4 ¢ Twer el & v Swd & 78 agh WiE b (@E & S A
AL

Ans
F A
_
@
®
xs \\

Question ID : 264330127510
Status : Answered
Chosen Option : 3
Q.5 fmfafEd vy ¥, e e fawed & @ sraw wsg g &1 gl
Ans X 1.9 - 3Pl
> 2. U - aa Ikt
o 3. QR — faed!
75 4.¢h —digd
Question ID : 264330126930
Status : Answered
Chosen Option : 3
Q.6 () P ariY 3T AT U weg fobeft aob/fFraaRTdY & SMYR W Uoh-gay @ Haftd &1 oA
T /MRy ¥ YR IR 3y ¢ fRwel & F (::) F rlf ok gu Wea/RTeg g &t gl
fﬁ'ﬂ' H §E AR 2
Ans 1 Y
X 2.4
V3
K 4T
Question ID : 264330126373
Status : Answered
Chosen Option : 3
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Q.7 fft Uo @RI Te UTHT &, "BOWLER' & 'TFNXQC' i@ oiran 8 1 39 $e yror
‘BOWMAN’ ! &7 fera Simem?
Ans ¥ 1. PBOXCQ

# 2. PBXOOB
7 3.PBOXCC
o 4. PBOXQC

Question ID : 264330126897
Status : Answered
Chosen Option : 4

Q.8 fou e 3l el &Y amuw A geem R Frafuf@d & @ B9 wr wwieo wd e

+and -
.L11-16%x3+4+12=11
I.15%x3-45+5+30=28

Ans X 1.1 3RSl
FooadieiRagn
o 3. 5ad |
X 4. Fadll

Question ID : 264330126790
Status : Answered
Chosen Option : 3

Q.9 T AfRHT P WISl FT 3T IR B g a1 A &gl a8 WY HIE F shala d¢ I ai @i
Te Aigen e @ 4 G6fia 82

Ans _» 1. umft
7 2. 989
X 3.98
> a4

Question ID : 264330126902
Status : Answered
Chosen Option : 1

Q.10 (::) P I} 30X AT 7T T3 wop-gay & fod) ab/fFramRisy & eifta &1 S adb/fraw
aﬁﬁa%wwwﬁqnqﬁmﬁﬁﬁ(::)%alﬁsh?qwmmwaﬁgﬁm
: ST ::?

Ans 1 WREGH!
X 2. 9EC; S
7 3. R U
7 4. g3 3t

Question ID : 264330126803
Status : Answered
Chosen Option : 1
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Q.1 fgfifEa uy & aR Wen g 3T T §1 Ude g # () & 9l 3R 3 ¥= (-) F ordf
3R B Ten | foreft ab/framRidy @ wefta § | 90e ab /A aaRiEy & R w AT
T a g1 3 e el & & srav g a5 gl _
;ﬁi&mﬁﬁaﬁmmﬁmmmm,wmaﬁw#ﬁmﬁaﬂ
I
32T 13 — 13 TR FHUTE S 13 F1 SSAT / TS/ TN AT 31T fan o Fwar g1 13 &1
104 3§ 3T B4 B 3R fhe 1 TF 3 W AR fpard v 9 srgufa 8t 8)

Ans ¥ 1.20-18
X 2.15-13
X 3.14-12
o 4.25-19

Question ID : 264330126795
Status : Answered
Chosen Option : 4

Q.12 39 fawey & ge R P TOIE a6 YaY 131 Bl & o 13T T g A
HEASHT GIRT W 51 W11 31 (AT <: W3l 1 37 e 3idl § 3o 3rerT fbg
o, qof Temaeit uR wfhaTd &t St 9iRT 39T, 13 - 13 W HipaTd O 13 Y Silsn
mmmﬁmmmm%l 13PI1TG3H M HA PR PR 1TW@I W
T wfhand H31 P srgAfa T8 ?)

(18, 69, 279)
(12, 45, 183)

Ans X 1.(14, 39, 159)
7 2.(22, 85, 345)
o 3.(32, 125, 503)
7 4.(16, 67, 265)

Question ID : 264330126893
Status : Answered
Chosen Option : 3

Q.13 fPpeft T T HTET &, 'FAMILY * LONG' Y "24' for@T ST €, 'COUPLE * THE' 1 '18'
R wirar 8 1 S T HTST H ‘OVER * HOSPITAL &1 & forar s

Ans ¥ 1.18

¥ 2.20
o 3.32

X 46

Question ID : 264330126898
Status : Answered
Chosen Option : 3

Q.14 gﬁ@ganﬁ%ﬁwﬁwuﬁw%lﬁnwﬁmﬁﬁwmﬁﬁm
PQRS, VNIZR, BKHQ, HHPP, ?
Ans . 1.NEXO
X 2.PQRT
7 3.NEYO
75 4.NQX0

Question ID : 264330126901
Status : Answered
Chosen Option : 1
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Q15 55 fames smta & gwv fowd & 78 Fgia WiEe §) (GO & FEE A6 )

Ans g -
=

%

/]
N

"
L/

Question ID : 264330127285
Status : Answered
Chosen Option : 2

P Rrm i , Fadr aw ¥ 2

Pencil
Pen

16

]

g

Scale
Pencil - 9f8=, pen - 94, Scale - Fhal

Ans 1. 20
o 2. 25
X3 21
X416

Question ID : 264330127038
Status : Answered
Chosen Option : 2
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Q.17 Fafafaa uy ¥ oy e el & & s sigriseRt &) gl
Ans 1. UVTX

7 2.PQOR
# 3.ZAYB
7 4.FGEH

Question ID : 264330126904
Status : Answered
Chosen Option : 1

|A[B|L]

Led
Il
£

X
@
X

E

W 4 L

Q18 Gy oo WO Fr Freww, PEEREE A F SiF W o A6 T 3 9 17

Question ID : 264330126757
Status : Answered
Chosen Option : 4

X2 5
X3 R
v4 M

Q19 2 o o & Fw T & T K 4 T B ¥ ROl B 9 S 30 2

Question ID : 264330127007
Status : Answered
Chosen Option : 4
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Q20 gfg8#6=283NR7#4=22,WI9#3="?
Ans ¥ 1.4
o 2.24
X 3.8
7 4.10

Question ID : 264330126376
Status : Answered
Chosen Option : 2

Q.21 ffafad vy &, & 7 e § @ g wen 31 gl
17, 27, 37, 47, 57, 67, 2

Ans X 1.117
x 2.107
#3127

& 477

Question ID : 264330126374
Status : Answered
Chosen Option : 4

Q.22 (::) & Y 3R T T g TG W et b Framdy @ wafta ) I ad/fm
mwﬂwnﬂwwﬁqmﬁﬁtﬁﬁ@r( 1) & 318 3R T s/=Tsg TTH B gAT|
ATARIY : =T 2 SR : ?

Ans 1.9
7 2. uadis
X 3.3H®
X 4.7

Question ID : 264330127300
Status : Answered
Chosen Option : 1

O & urk gy # Ay wEw § 2

Ans 1 9Q
X217
X319
X418

Question ID : 264330127034
Status : Answered
Chosen Option : 2
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Q.24 I fawped Bt gAY ot Fadt wem | S W ave Wafla @ o @ s ven gad
e | Hafta @ R uiedl W odt wen @ Heta 21
38:78::102:7?::46:94
Ans ¥ 1.204
7 2.202
7 3.214

o 4.206

Question ID : 264330127016
Status : Answered
Chosen Option : 4

Q.25 wﬂ%ﬁmaﬁgﬁqﬁﬁqwﬁaﬁwﬁaﬁﬁmﬁmﬁ%ﬁl
1.
2. gaTS BI g
3. Rifrcs

4.l
5. gt

Ans ¥ 1.53124
7 2.35124
7 3.2,35,1,4
o 4.13524

Question ID : 264330126921
Status : Answered
Chosen Option : 4

Section : Quantitative Aptitude

Q1 Bt amST @, s ST wr 7 ww Mg e 57 = T h o RZS = 60 MM M RS = 10 em

AT & e w7
Ans 1. 10 em

X2 8 cm
312 cm
415 em

Question ID : 264330128175
Status : Answered
Chosen Option : 1

Q.2 g g e Wt & St 27 1 ofr o O P ot o Rt ST oo P wo T o
i =7 fAar wne, S5 a dftee = e

Ans X 1 28
&2 29
M3 32
v 4 27

Question ID : 264330127892
Status : Answered
Chosen Option : 4
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Q3 36+18K5 5+15X5+6X2-5
e P ek il el 2
A 36+{3%4) 3 B 15+5x25-2x3+6" (A B) = AW a"

Ans 1. 7761225
2. 401/225
3. 7721225
w4 424/225

Question ID : 264330127906
Status : Answered
Chosen Option : 1

Q4 = ey CO =ETT UE ¥ Y 5T ¥ATT W 180 fetr b oo ww ¥ fezr 14 em ¥ T S
CO & kTt "

Ans X 1. 24 cm
%2 21 cm
3 28 cm
#4 32 cm

Question ID : 264330126495
Status : Answered
Chosen Option : 3

Qs A R v &7 werw A 6 FRE @0 W F wes # i = g

1Ml

E

300

A

Amm&wﬂmﬁjmﬁﬁi#mﬂmmmh
Ans > 1. Eﬂﬂ 'J'PerTH'

% 2. 200 wfaeE

X 3. 400 gfarere

v 4 500 gfeere

Question ID : 264330128037
Status : Answered
Chosen Option : 4
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Q8 Zrr & & mfEET # & SuEt #1 5 a6t v ey F gufw w d

Fafarar
EL g A B
P 350 1150
Q 550 850
R 750 950
S 650 350
T 450 250

L1 = i a5t & A 3 B & o7 i F 6= 77 3w
L2 = st awf & A &1 sitea s =7 77
L1: L) FTaTFT e

Ans 1. 16 : 11
X213 : 12
X311 :16
LR i

Question ID : 264330127811
Status : Answered
Chosen Option : 1

Q7 oF g w e wE & B05 BT O dee o 20 5B @ o e b g ks wen o
T W FE = gy

A g13:2

X25:2
X35:3
X4+6:5

Question ID : 264330128018
Status : Answered
Chosen Option : 1
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Q.8 i fray wray ww wE o aEEE EERT LML NP, O st ROA E det o s o ar R
# FEm S o

mh R AEw 0 *mﬂ#ﬂﬂmﬂﬁﬁgm.mm#ﬂweim#m
Frsnfilt & g s w fEme vl I

Ans X 1. 99.68 wfaea
v 2. 753 gfaera

X 3. 132.78 v
X 4. 142 56 gfaeE

LI
18—

L]

Question ID : 264330128361
Status : Answered
Chosen Option : 2

QY axyz# Y=o fhsbryN 2 ETeA N A NY = Wem A X2 = M em, YN T AT
=

Ans X 1. (220/17) em
X2 (210/17) cm
x 3 (280/17) ecm
v 4 (240/17) em

Question ID : 264330127901
Status : Answered
Chosen Option : 4

Q.10

afE 572X41, 9 | =g &, O X &7 AT 4w 27
Ans 1 9
v2 8
X3 4
X4 6

Question ID : 264330127805
Status : Answered
Chosen Option : 2
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Q11 ymmr w7 2 ot & T sy e (ais 9 9 FaRe) Rs 2180 b o o are o 20
oftnm &, A ummi R 17

Ans v 1. Rs. 9500
# 2. Rs. 8800
# 3. Rs. 9800
* 4 Rs. 8500

Question ID : 264330127922
Status : Answered
Chosen Option : 3

Q12 gt B wa dx e 5 AAE £ 2D e S1 sy S2 e o wk gt @ wwmt S nb
1]

L)

3
H 1 L]
L R LT

A1 = m 5w & 81 T 52 aEw = o st # 5 T

J2 = i 5wl A 81 i nf gee & g s st b 8 Rl F S2 T it g
qEAE § FE wE & A A HE
(41 = J2) =7 B WD R

ans 1130
x 2 200
X3 160
v 4 260

Question ID : 264330127938
Status : Answered
Chosen Option : 4

Q13 = &% vw 125 m 3T gEl 375 m Wl T TehE o fiwls Mhmat F w81 kit 3T 83
kmihe =R § T 55 W F T OF gFT @ 9 e & e aem sy

A" w1125 AT
X2 25 Hehs
X3 225 Qe
X4 15 HHE

Question ID : 264330127890
Status : Answered
Chosen Option : 1
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Ans

v 1 512 em®
X2 729 ecm?
X 31728 cm®
* 41331 cm?

Q14 ofr v uA F W T aEw 384 em? &, A O W A F9w 2

Question ID : 264330127891
Status : Answered
Chosen Option : 1

Ans 1. 2400
X 2 3300
v 3 4200
X 4. 3600

Q15 e wmard 20 3 5 & wgmA & o me ol ot e ofF oo e o 0800 &, S we
ot ot e A s Ewm |7

Question ID : 264330127896
Status : Answered
Chosen Option : 3

Ans 1 55 mm
v 2. 50 gfaeE
x 3. 48 giaeE
> 4 60 wiaeE

Q16 s Fom = FFE ¥ ¥ 20 oo i 30 oftnm o F B o, W9 22 oftve m T =
¥ afomt T smnvTs T gEr W fEme Wi B

Question ID : 264330127894
Status : Answered
Chosen Option : 2

[x = 26 cm)

Ane X 11248 em
v 21045 cm
X3 945 em
%4 1145 cm

Q17 st i s M Bem P s wigtdaolmror @
fag 1 oft PORS o= Ind for | 3 OR = 40 om it PS = 48 om &, 71 u 7 &9 =37 ¥7

Question ID : 264330127899
Status : Answered
Chosen Option : 2
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Q18 A Mimar MNATFFE 7o AT e R OB A aeT I
i AR It g h ot & = ay 70 57 § & = =i
AT & e dE g

Ans v 1. Rs. 880
%2 Rs. 900
# 3. Rs. 1050
# 4 Rs. 800

Question ID : 264330127914
Status : Answered
Chosen Option : 1

O IR anF=22, & sin F + cos F & &F FT 7

Question ID : 264330126496
Status : Answered
Chosen Option : 1

Q.20 rx # wefeedt bt wewt wr sl o 30 kg AT 36 kg ) 9 weiTt & T wewt o weEm
#ﬁtw:wﬂm = e w e g

Ans 1. 32 kg
x 2 31.5 kg
x 3 31 kg
x 4. 33 kg

Question ID : 264330126494
Status : Answered
Chosen Option : 1

O gy x2 +y2 =20 AW x -y =3 & A dxy F A T
Ans 5 g 16

~ 2 60

~ 3 5B

V4 40

Question ID : 264330127902
Status : Answered
Chosen Option : 4
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Q.22 &
wﬁ'a‘*+ﬂ%=194,a‘r“a:1 T A FOT
Ans 1. 52
X2 46
X3 48
X 4 50

Question ID : 264330128029
Status : Answered
Chosen Option : 1

Q.23 spQR 7 FRFAT s b 20 = 90 e, PO = 12 em, OR = 5 om b1 cot P - tan R & 7 &=
Ly

ans X1 513
vz 0
# 3 5/
x4 5/24

Question ID : 264330127908
Status : Answered
Chosen Option : 2

Q24 ox a5g & 10 sPm oft 57 & = ) off oF w ST A RS @ ol f S B o T
7D A R @ g B A B A IF o7 10 SR W R TR B A §oOE e
FEr e

Ans X 1. Rs.62.5
* 2 Rs.675
* 3 Rs.685
v 4 Rs.60.75

Question ID : 264330128020
Status : Answered
Chosen Option : 4

Q.25

afg sin B-cos A =0, @ A + B &7 A &7 87
Ane X1 45 Bl
v 2 90 RBaf
3 0
x4 60 Bl

Question ID : 264330128257
Status : Answered
Chosen Option : 2

Section : General awareness
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Q.1 5 a1 7 frdhe & forg wifgam dr20 wRman wu 2022 &1 far siar u1?
Ans X 1 sfid@

> 2. SfaRY
2 3. TifraE
o 4. HRA

Question ID : 264330125405
Status : Answered
Chosen Option : 4

Q.2 S - HueT &I fFfiad # | S-a1 7 9l 82
1. TRHTY] ST — Wiei=l B1 T
I1. STSTHT AT — <Y 3R el B WBAT BT AT
Ans X 1.9 RAE
X 2. ®adll
X 3.%9d |

o 4.1 3R 11 &

Question ID :
Status :
Chosen Option :

264330124994
Answered
4

Q.3 fie sfear acarss 2022 USie fobam siaT @2
Ans g 1 TR UCH

7< 2. A=A SH

2 3. o i

7 4RGSR

Question ID :
Status :
Chosen Option :

264330125027
Answered
1

Q.4 @l gerd - Hiar &1 Fafif@d &  S19.91 gw 9d @2
1. faerfiE A - gdian
Il. I8 - UTaP

Ans s 1| SR IIEHS
X 2. %ad |
X o3 Fan eRAE
X 4. Fadll

Question ID :
Status :
Chosen Option :

264330125018
Answered
1

Q5 TgF e ANST B ugedt afgen SwTguly s e gie smn 32

Ans 1. TFR ¥oldee
o 2. HHa R
X 3. wrfge fofffa
7 4. R urd

Question ID :
Status :
Chosen Option :

264330124951
Answered
2
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Ans 4 1. Pivotal joint

7% 2. Fixed joint

#% 3. Ball and socket joint
#5 4. Hinge joint

Q.6 In humans the neck is joined by the head by which of the following joints?

Question ID : 264330124992
Status : Answered
Chosen Option : 4

Ans X 1. Qualitative - Cash Reserve ratio
" 2. Qualitative — Moral Suasion
7% 3. Qualitative — Open Market Operations

7% 4. Quantitative — Marginal requirement

Q.7 Which of the following combinations of ‘RBI Tool — Monetary instrument’ is correct?

Question ID : 264330124990
Status : Not Answered
Chosen Option : --

Ans  x 1. @ U4 (Lord Ripon)
”~ 2 ors faferm s (Lord William Bentinck)
X 3. 90S Ardeded (Lord Mountbatten)
o 4. I HHATC (Charles Cornwallis)

Q.8 1793 ¥ 9q ST B FIAURI FSaa 1 fHa1 7T YT, 99 SUBT TG SIRd DI Y12

Question ID : 264330124999
Status : Answered
Chosen Option : 2

IcudT | R B
Ans X 1. W 3R AR

X 2. O9e
o 3. fearaa we=
7 4. TWES

Q.9 ufipft fewrera ® S Rien ®1 Tad I87 F5 B T (Kye Gompa)

IISARY

Question ID : 264330125436
Status : Answered
Chosen Option : 3

Q.10 forH YR WdaT ST B WRd FT fawrss +ft g1 srar 32
Ans X 1. Hgre it

# 2. SR A A5

75 3. 9Id JgTgR XNl

o 4. TRCEAR TRHHTE Uee

Question ID : 264330125401
Status : Answered
Chosen Option : 4
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Q.11 Arid soils are characteristically developed in , Which exhibit
characteristic arid topography.

Ans ¥ 1. Southern Uttar Pradesh
#% 2. Western Uttar Pradesh
" 3. Western Rajasthan
7% 4. Southern Rajasthan

Question ID : 264330125396
Status : Answered
Chosen Option : 3

Q12 YRAGHERYF FToRg2 A Hefua gl
Ans X 1. I Iod & A B oRkada

& 2. TUTT BT U AT 3] RITTT

7 3. IO I F & B uRaedE

# 4. Y BT M 3R ITA

Question ID : 264330125004
Status : Answered
Chosen Option : 4

Q.13 2011 B} FTTTUAT F AR 2001 H 2011 TH HRA P1 TAES FT AP gfS R FAT?
Ans  _p 1164 TR

X 2. 2.22 yfa=id

7 3.1.97 ufc=id

X 4.2.16 ufa=id

Question ID : 264330124946
Status : Answered
Chosen Option : 4

Q.14 What is the full form of NCRB?
Ans X 1. National Currency Records Branch

#% 2. National Criminal Records Bureau
7% 3. National Capital Register Bureau

" 4. National Crime Records Bureau

Question ID : 264330125014
Status : Answered
Chosen Option : 4

Q.15 Uday Shankar was an Indian dancer best known for creating a

Ans X 1. American Style of dance
7% 2. Folk dance style
#% 3. Indian style of dance
" 4. Fusion style of dance

Question ID : 264330124885
Status : Not Answered
Chosen Option : --
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Q.16 JRffgaafiaw_ SrA_mremEr gl
Ans X 1. 49ars

X 2,59

o 3.29 908

2 4,30 9ATS

Question ID : 264330125013
Status : Answered
Chosen Option : 3

Q.17 FufafEa ¥ @ % auf & dRM st Taw A W= fbar a2

Ans X 1.1290 - 1296
75 2. 1266 — 1287
75 3.1320-1324
& 4.1206 -1210

Question ID : 264330125125
Status : Answered
Chosen Option : 4

Q.18 Which of the following pairs of "players in a team — sports" is correct?
I. 11 — basketball
Il. 11 — volleyball

Ans 2 1.0nly |
#5 2.Both land Il

25 3.0nly Il
" 4. Neither I nor Il

Question ID : 264330125032
Status : Answered
Chosen Option : 1

Q.19 fHd WR Acas H, Nﬁ@'ﬂﬁ"&ﬂ?:ﬁ@(host node)ﬁ\‘:ﬂ@%ﬁlﬁﬁﬁ‘ﬁﬂﬁﬁﬂﬁ
STaLTHT Biell 872
Ans ¥ 1.N/2

2. (N2) -1
K3 N+1
& 4 N-1

Question ID : 264330125108
Status : Answered
Chosen Option : 4

Q.20 gt # B frat 2
Ans . 1.6371km

7 2.4728 km
# 3.5619 km
7 4.7456 km

Question ID : 264330125122
Status : Answered
Chosen Option : 4
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Q.21 Which of the following shortcut key is used to make the contents of a cell underlined
in MS-Excel 365?

Ans ¥ 1.Ctrl+3
75 2.Ctrl +2
75 3.Ctrl+6
o 4.Ctrl+4

Question ID : 264330124984
Status : Not Answered
Chosen Option : --

Q.22 Which of the following statements is correct regarding the bank reserves?
I. These reserves are kept partly as cash and partly in the form of financial
instruments.
Il. Cash Reserves Ratio are deposits which commercial banks keep with the Reserve

Bank of India.
Ans & 1.Bothlandll

75 2.0nly |
2% 3. Neither | nor Il

75 4.0nly Il

Question ID : 264330125016
Status : Not Answered
Chosen Option : --

Q.23 JTfT 31U 2022 H YoV UHd HT faare faa sidar 412
Ans }(1.%?%—6

o 2. d TS

7 3. $Fga Agaeq

> 4. ae SeifaT

Question ID : 264330124906
Status : Answered
Chosen Option : 4

Q.24 fmfafad & @ 1 YRR AU & URTIX & siavia smar 82
Ans 1. fo, Gufy, Sferd sikarg

7 2. 3T 3R ST &

7 3. T 3R Il & o dey

o 4. 09T

Question ID : 264330125128
Status : Answered
Chosen Option : 4

Q.25 fgfafEa & ¥ o-wt ve wiife yefa 32
Ans ¥ 1. 4R e

2 2. YR SiTett e

o 3. PRt B

> 43 e

Question ID : 264330125023
Status : Answered
Chosen Option : 1
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